Notice for appointment of Regular / Rural Retail Outlet Dealerships

Indian Oil Corporation Limited (MD) proposes to appoint Retail Outlet dealers in Rajasthan State, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)/. (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
1	ROAD NO 14 VISHWAKARMA INDUSTRIAL AREA IN JAIPUR CITY	JAIPUR	Regular	320	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
2	BETWEEN CHOMU PULIA AND JAIPUR-DELHI	JAIPUR	Regular	210	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
3	WITHIN MUNICIPAL LIMIT OF SRIMADHOPUR	SIKAR	Regular	100	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
4	WITHIN MUNICIPAL LIMIT OF AJEETGARH(NOT ON SH)	SIKAR	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
5	BETWEEN KM STONE NO 167 TO KM STONE	DAUSA	Regular	160	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
6	BETWEEN KM STONE 324 TO KM STONE 330 ON NH 48 (OLD NH 08) RIGHT HAND SIDE WHILE GOING FROM JAIPUR TO AJMER	JAIPUR	Regular	200	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
7	ON SRIMADHOPUR BYPASS ROAD(SH37) BETWEEN RAILWAY OVERBRIDGE TO KHANDELA ROAD INTERSECTION	SIKAR	Regular	120	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
8	BETWEEN KM STONE 6 TO KM STONE 9 ON SH02	DAUSA	Regular	120	sc	CFS	35	35	1225	0	0	Draw of Lots	О	3
9	BETWEEN KM STONE 8 TO KM STONE 10 ON SH100 FROM SAWARDA TO ROOPANGARH	JAIPUR	Regular	120	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
10	BETWEEN KM STONE 194 TO KM STONE 197 ON SH-25 (ALWAR-BHIWADI ROAD)	ALWAR	Regular	120	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
11	WITHIN 3 KM OF DELHI MUMBAI EXPRESSWAY AND SH 14 INTERSECTION TOWARDS BARODAMEO ON SH 14	ALWAR	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
12	ON SH25A BETWEEN KM STONE 11 TO KM STONE 13	ALWAR	Regular	105	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
13	BETWEEN KM STONE NO 78 TO KM STONE 80 ON SH24	JAIPUR	Regular	120	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
14	BETWEEN KM STONE 85 TO KM STONE 92 ON SH02	JAIPUR	Regular	110	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
15	ON GANGA MARG LEFT HAND SIDE FROM CBI PHATAK TO KHATIPURA RAILWAY STATION MAIN GATE IN JAIPUR CITY	JAIPUR	Regular	250	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
16	ON ROAD CONNECTING INTERSECTION OF NH- 52 AND NINDER ROAD TO NEW LOHA MANDI VIA HOTEL HILL VIEW	JAIPUR	Regular	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
17	ON HALDIGHATI MARG BETWEEN TONK ROAD INETERSECTION TO SHIKARPUR ROAD INTERSECTION(JAIPUR CITY)	JAIPUR	Regular	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
18	BETWEEN KM STONE 155 TO KM STONE 160 (KM STONE AS PER NH-11B) ON NH-23(OLD NH-11B) (GANGAPUR CITY - KARAULI - DHOLPUR ROAD)	DHOLPUR	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
19	ON VAISHALI MARG WEST ROAD WITHIN 3 KM FROM 200 FT AIMER DELHI BYPASS INTERSECTION TOWARDS RAIKIYA MADVAMIK VIDHYALAYA KANAKPURA(JAIPUR CITY)	JAIPUR	Regular	170	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
20	BETWEEN KM STONE 421 AND KM STONE 426 ON SH-07(HANUMANGARH-SARDARSHAHAR ROAD)	HANUMANGARH	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Late	0	2
21	BETWEEN KM STONE 60 AND KM STONE 65	BARMER	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots Draw of Lots	0	3
22	BETWEEN KM STONE 102 AND KM STONE 105 ON NH-325 (JALORE-SANDERAO ROAD)	JALORE	Regular	160	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
23	FROM BHINMAL CIRCEL JALORE TO RTO OFFICE JALORE ON JALORE-BHINMAL ROAD	-								0	0		0	
24		JALORE	Regular	122	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
	TO SANDERAO ROAD BETWEEN KM STONE 36 AND KM STONE 40	JALORE	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
25	ON CU 24 (IALORE TO DUINNAAL DOAD)	JALORE	Regular	101	sc	CFS	35	35	1225	Ü	Ü	Draw of Lots	U	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)// (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation	Estimated fund required for development of	Draw of Lots / Bidding		
26	BETWEEN KM STONE 55 AND KM STONE 59				OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH					of RO	infrastructure at RO		0	
26	ON SH-16 B (BAGODA-SAYLA ROAD)	JALORE	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
27	BETWEEN KM STONE 49 AND KM STONE 53 ON SH-31 (JALORE TO BHINMAL ROAD)	JALORE	Regular	101	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
28	BETWEEN KM STONE 98 AND KM STONE 102 ON SH 31	JALORE	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
29	BETWEEN KM STONE 19 TO KM STONE 24 ON									0	0		0	
30	SH-31 (JALORE TO BHINMAL ROAD) ON PROPOSED NH 325 BYPASS (SIWANA	JALORE	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BYPASS) FROM 72 JINALAYA LAXMIVALLABH	BARMER	Regular	150	SC	CFS	35	35	1225			Draw of Lots		3
31	PARSHVNATH JAIN MANDIR BHINMAL TO POWERGRID BHINMAL ON JALORE-BHINMAL									0	0		0	
	ROAD BETWEEN KM STONE 1 AND KM STONE 5 ON	JALORE	Regular	100	sc	CFS	35	35	1225			Draw of Lots		3
32		JALORE	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
33		SRI GANGANAGAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
34	WITHIN 3 KM ON EITHER SIDE FROM TEHSIL OFFICE PILIBANGA ON SH-94									0	0		0	
35	(HANUMANGARH-SURATGARH ROAD) Within 03 KM on Either Side of Tehsil	HANUMANGARH	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
36	Karyalaya Ghantiyali on SH 136 SANCHORE Within Municipal Limits (ON MDR	JODHPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
30	17) WITHIN 2.5 KM FROM CUSTOM CHOURAHA	JALORE	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
37	TOWARDS THIKARIYA ON DAHOD ROAD WITHIN MUNICIPAL LIMITS BANSWARA	Banswara	Regular	165	SC	CFS	30	30	900	0	0	Draw of lots	0	3
38	FROM BHILWARA TO CHITTORGARH	Bhilwara	Regular	165	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
39	From KM Stone 102 to km stone 106 on NH- 162E	Rajsamand	Regular	150	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
40	FROM KM STONE 220 TO KM STONE 224 ON ON NH-79 LEFT HAND SIDE WHILE GOING FROM CHITTORGARH TO NEEMUCH	Chittorgarh	Regular	190	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
41	FROM JALCHAKKI CHOURAHA TO INTERSECTION ON NH-758 VIA DHOHINDA WITHIN MUNICIPAL LIMITS OF RAJSAMAND	Rajsamand	Regular	150	sc	CFS	30	30	900	0	0	Draw of lots	0	3
42	BETWEEN KM STONE 07 TO KM STONE 12 ON SH 81B (PRATAPGARH RATLAM ROAD)	Pratapgarh	Regular	120	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
43	BETWEEN KM STONE 30 TO KM STONE 35 ON SH 81B (PRATAPGARH RATLAM ROAD)	Pratapgarh	Regular	135	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
44	BETWEEN KM STONE 40 TO KM STONE 44 ON SH 81B (PRATAPGARH RATLAM ROAD)	Pratapgarh	Regular	120	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
45	MUNICPAL LIMKTS OF PALI CITY	PALI	Regular	100	sc	CFS	30	30	900	0	0	Draw of lots	0	3
46	LIMIT OF PALI CITY	PALI	Regular	100	sc	CFS	30	30	900	0	0	Draw of lots	0	3
47	MANSOROVAR	SIROHI	Regular	100	sc	CFS	30	30	900	0	0	Draw of lots	0	3
48	FROM KM STONE 155 TO KM STONE 159 ON OLD SH 10 (NH 927A) BANSWARA-RATLAM ROAD	Banswara	Regular	155	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
49	WITHIN 3KM FROM AMITY SECONDARY SCHOOL MAIN GATE DADOOKA ON SH-54 A (GARHI-BAGIDORA ROAD)	Banswara	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
	WITHIN 2.5 KM FROM GOVT SENIOR SECONDARY SCHOOL BORI (MAIN GATE) ON SH-10 A (GARHI -ARTHUNA ROAD)	Banswara	Regular	110	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
51	SH 39A	Bhilwara	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
52	BETWEEN KM STONE 54 TO KM STONE 60 ON SH-91	Dungarpur	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
53	NH927A	SIROHI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
54	BETWEEN TAUSAR PHATAK AND GANDHI CHOWK NAGAUR VIA AJMERI GATE IN NAGAUR CITY	NAGAUR	Regular	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
55	BETWEEN KM STONE 309 AND KM STONE 314 ON NH48 (OLD NH79) ON LEFT HAND SIDE WHILE TRAVELLING TOWARDS BHILWARA	AJMER	Regular	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
56	CHHIPABAROD ON NH-752(OLD NH-90)	JHALAWAR	Regular	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
57	BETWEEN KM STONE 218 AND KM STONE 223 ON NH-52 LEFT HAND SIDE WHILE MOVING FROM JAIPUR TO KOTA	BUNDI	Regular	250	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dim	nension (in M.)// (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OPEN OPEN OPEN CC 2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
	BETWEEN KM STONE 79 AND KM STONE 83 ON NH 12 (NEW NH 52) ON LEFT HAND SIDE WHILE MOVING FROM JAIPUR TO KOTA.	TONK	Regular	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
59	FROM KM STONE 13 TO KM STONE 15 ON SH - 7 (KISHANGARH TO ROOPANGARH)	AJMER	Regular	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
60	FROM KM STONE 129 TO KM STONE 132 ON SH-51	BARAN	Regular	120	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
61	DETAMERAL MAJ CTONIC 40 AND MAJ CTONIC 20	NAGAUR	Regular	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
62	BETWEEN KM STONE 96 AND KM STONE 99 ON SH 37 A	TONK	Regular	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE 15 AND KM STONE 20 ON SH 117 (DIGGI- SOHELA ROAD)	TONK	Regular	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	WITHIN 2 KM OF MAIN GATE OF GRAM PANCHAYAT OFFICE KALESARA TOWARDS JETHANA ON SH-102	AJMER	Regular	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	WITHIN 3 KM FROM HANUMAN JI TEMPLE KAWAD TOWARDS ADALWARA KALAN ON SH- 122	SAWAI MADHOPUR	Regular	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
66	BETWEEN KM STONE 4 AND KM STONE 7 ON SH-124	SAWAI MADHOPUR	Regular	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
67	BETWEEN KM STONE 330 AND KM STONE 333 ON SH-01	SAWAI MADHOPUR	Regular	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
68	WITHIN 6 KM FROM INTERSECTION OF NH 48 (OLD NH 79A)AND SH 101 ON SH 101 TOWARDS ARAIN	AJMER	Regular	110	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	ON HEERAPURA ROAD FROM BEER RAMCHANDRAPURA CHOWRAHA TO GOVT SENIOR SECONDARY SCHOOL HEERAPURA	Jaipur	Rural	60	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
	MOHANPURA ON NANGAL RAJAWATAN - PAPLAJ MATA ROAD	DAUSA	Rural	70	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	WITHIN 4 KM FROM POLICE STATION RAMSAR TOWARDS CHOHTAN ON RAMSAR - CHOHTAN ROAD	Barmer	RURAL	50	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
72	BETWEEN KM STONE 26 TO KM STONE 32 ON MDR 11-A NIMBAHERA MANGALWAD ROAD	Chittorgarh	RURAL	105	sc	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
	WITHIN 3 KMS FROM BRAHMANI MATA MANDIR BACHARIYA ON ASPUR DHATANA ROAD	DUNGARPUR	RURAL	80	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
74	UPTO 2 KM FROM RAJKIYA PRATHMIK VIDYALAY INDIRA COLONY BHANWATA TOWARDS LALWARI ON BHANWATA LALWARI ROAD	TONK	Rural	50	sc	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
75	FROM RAJKIYA PRATHMIK VIDYALAY KHIDARPUR TO RAJKIYA PRATHMIK SWASTHYA KENDRA UDAI KHURD ON MDR- 250	SAWAI MADHOPUR	Rural	80	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
76	ON JLN MARG BETWEEN JAWAHAR CIRCLE TO SHAHID SMARAK(TRIMURTI CIRCLE) (JAIPUR CITY)	JAIPUR	Regular	410	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
77	ON NEW SANGANER ROAD FROM BHRIGU PATH INTERSECTION TO RAJAT PATH INETERSECTION (JAIPUR CITY)	JAIPUR	Regular	350	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
	VIDHYADHAR NAGAR ON MINIMUM 24 METER ROAD (JAIPUR CITY)	JAIPUR	Regular	220	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
79	ON NEW SANGANER ROAD FROM RAJAT PATH	JAIPUR	Regular	310	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	ON HALDIGHATI MARG FROM HALDIGHATI GATE TO PANNADHAY CIRCLE (JAIPUR CITY)	JAIPUR	Regular	310	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
81	ON VT ROAD, BETWEEN NEW SANGANER ROAD INTERSECTION AND SHIPRA PATH INTERSECTION (JAIPUR CITY)	JAIPUR	Regular	310	ОВС	сс	20	20	400	32	12	Bidding	30	4
82	ON MAHATMA GANDHI MARG WITHIN 3 KM FROM TONK ROAD INTERSECTION (JAIPUR CITY)	JAIPUR	Regular	210	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
83	ON PANDIT TN MISHRA MARG BETWEEN GOPALPURA BYPASS INTERSECTION AND JANPATH INTERSECTION (JAIPUR CITY)	JAIPUR	Regular	310	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
84	WITH VIT ROAD (JAIPUR CITY)	JAIPUR	Regular	220	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
85	ON TONK ROAD, FROM B2 BYPASS CHOURAHA TO SHEOPUR TONK ROAD INTERSECTION (JAIPUR CITY)	JAIPUR	Regular	310	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
86	ON SAHKAR MARG BETWEEN SAHKAR	JAIPUR	Regular	320	OPEN	сс	20	20	400	32	12	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)// (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation	Estimated fund required for development of infrastructure	Draw of Lots / Bidding		
	ROAD NO 9 VISHWAKARMA INDUSTRIAL AREA				OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH					of RO	at RO		-	
87	IN JAIPUR CITY ON GOVIND MARG BETWEEN INTERSECTION	JAIPUR	Regular	250	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
88		JAIPUR	Regular	230	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
89		JAIPUR	Regular	230	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
90	INTERSECTION TO B 2 BYPASS CHOURAHA (JAIPUR CITY)	JAIPUR	Regular	310	OPEN	сс	30	30	900	32	12	Bidding	30	5
91	CIRCLE (JAIPUR CITY)	JAIPUR	Regular	170	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
92	ON SANGH SHAKTI MARG BETWEEN KHATIPURA PHATAK AND NH48 INTERSECTION (JAIPUR CITY)	JAIPUR	Regular	350	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
93	ON DIGGI MALPURA ROAD BETWEEN NEW SANGANER ROAD INTERSECTION AND MUHANA ROAD INTERSECTION RIGHT HAND SIDE WHILE MOVING FROM JAIPUR TO PHAGI	JAIPUR	Regular	210	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
94	ON PRABHU DAYAL MARG 160 FT ROAD BETWEEN HALDIGHATI MARG INTERSECTION AND AIRPORT ROAD INTERSECTION (JAIPUR CITY)	JAIPUR	Regular	210	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
95	ON ROAD NO 6 VISHWAKARMA INDUSTRIAL AREA (JAIPUR CITY)	JAIPUR	Regular	250	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
96	ON MANGYAWAS ROAD BETWEEN BHARAT MATA CIRCLE AND NEW SANGANER ROAD INTERSECTION (JAIPUR CITY)	JAIPUR	Regular	210	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
97	(JAIPUR CITY)	JAIPUR	Regular	210	OPEN	сс	20	20	400	32	12	Bidding	30	5
98	CITY	ALWAR	Regular	100	OPEN CC 2	DC	30	30	900	32	55	Draw of Lots	15	5
99	WITHIN UIT (URBAN IMPROVEMENT TRUST) LIMIT OF ALWAR FROM JAIL KA CHOURAHA TO TULEDA MODE	ALWAR	Regular	120	OBC CC 1	DC	30	30	900	32	55	Draw of Lots	15	4
100	ON MAHAL ROAD BETWEEN 7 NUMBER CHAURAHA AND BOMBAY HOSPITAL CIRCLE ON LEFT HAND SIDE TOWARDS SITAPURA (JAIPUR CITY)	JAIPUR	Regular	310	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
101	ON VANDE MATRAM MARG BETWEEN BHARAT MATA CIRCLE AND VANDE MATRAM CIRCLE (JAIPUR CITY)	JAIPUR	Regular	230	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
102	ON GOPALPURA BYPASS ROAD BETWEEN TONK ROAD INTERSECTION TO RIDDHI SIDDHI INTERSECTION (JAIPUR CITY)	JAIPUR	Regular	240	OPEN	сс	20	20	400	32	12	Bidding	30	5
103	BETWEEN LITTLE FIELD SCHOOL AND SHIV MANDIR ON LITTLE FIELD SCHOOL TO SHIV MANDIR ROAD (100 FEET ROAD) VIA RAHEJA TOWER RIGHT HAND SIDE (JAIPUR CITY)	JAIPUR	Regular	160	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
104	FROM CHOMU PULIA BUS STAND TO ALKA CINEMA ON SIKAR ROAD IN JAIPUR CITY	JAIPUR	Regular	200	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
	ON TONK ROAD BETWEEN SHEOPUR ROAD INTERSECTION AND BAMBALA PULIYA (JAIPUR CITY)	JAIPUR	Regular	270	OPEN	сс	30	30	900	32	12	Bidding	30	5
106	BETWEEN RIDDHI SIDDHI INTERSECTION AND MANSAROVAR METRO STATION ON GOPALPURA BY PASS ROAD (JAIPUR CITY)	JAIPUR	Regular	310	OPEN	сс	20	20	400	32	12	Bidding	30	5
107	WITHIN MUNICIPAL LIMITS OF ALWAR CITY	ALWAR	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
108	BETWEEN KM STONE 14 TO KM STONE 20 ON NH-52	SIKAR	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
109	FROM BHARATMATA CIRCLE TO COLOURS INTERNATIONAL SCHOOL ON 200 FT ROAD VIA KOTECHA ROYAL FLORANCE (JAIPUR CITY)	JAIPUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
110	ON JHOTWARA ROAD BETWEEN PAANI PETCH TIRAHA AND CHOMU PULIA (JAIPUR CITY)	JAIPUR	Regular	210	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
111	WITHIN MUNICIPAL LIMITS OF BHADATRUB	UNUHLINUHL	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
112	CITY	BHARATPUR	Regular	100	OPEN CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
113	FROM DAUSA TO LALSOT	DAUSA	Regular	170	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
114	WITHIN BEHROR MUNICIPAL LIMIT NOT ON NH48(OLD NH08)	ALWAR	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
115	ON KEDIA PALACE ROAD BETWEEN GORAS BHANDAR AND KEDIA PALACE CHORAHA (JAIPUR CITY)	JAIPUR	Regular	210	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)// (in Sq. M.). *	Area of the site	applicant	(Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6 SC	7		8 T	1	9a	9b	10	11	12
					SC CC 1									
					SC PH	1		1	1					1
					ST	i								
					ST CC 1					Estimated	Estimated fund required			
			Decides /	MC:UCD in	ST PH					working	for			
			Regular / Rural	MS+HSD in KLs	OBC	CC / DC / CFS	Frontage	Depth	Area	capital requirement	development	Draw of Lots / Bidding		
					OBC CC 1					for operation	infrastructure			
					OBC PH					of RO	at RO			
					OPEN CC 1									
					OPEN CC 1	ł								
					OPEN PH	ł								
	ROAD NO 17 VISHWAKARMA INDUSTRIAL													_
116	AREA (JAIPUR CITY)	JAIPUR	Regular	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
117	WITHIN MUNICIPAL LIMITS OF KISHANGARHBASS	ALWAR	Regular	120	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
	FROM NINDER TO DAULATPURA ON													
118	JAIRAMPURA ROAD (WITHIN JAIPUR	JAIPUR	Regular	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	DEVELOPMENT AUTHORITY LIMIT)													
440	ON MAHAL ROAD RIGHT HAND SIDE WHILE			240	00541									_
119	GOING FROM 7 NUMBER CHAURAHA TO BOMBAY HOSPITAL CIRCLE (JAIPUR CITY)	JAIPUR	Regular	310	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	ON AJMER ROAD FROM SEVAYATAN													
120	MATERNITY & GENERAL HOSPITAL TO M I	JAIPUR	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	ROAD INTERSECTION (JAIPUR CITY)													
121	WITHIN MUNICIPAL LIMITS OF DALISA (NOT	BHARATPUR	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
122	WITHIN MUNICIPAL LIMITS OF DAUSA (NOT ON NH21 AND SH78)	DAUSA	Regular	160	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
	ON HAWA SADAK ROAD BETWEEN								1					
123	AMBEDKAR CIRCLE TO HOTEL HILTON JAIPUR	JAIPUR	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	IN JAIPUR CITY LALARPURA ON MINIMUM 24 METER ROAD		-					-	+				 	
124	(JAIPUR CITY)	JAIPUR	Regular	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	ON KHATIPURA ROAD FROM 200 FT AJMER-													
125	DELHI BYPASS TO HALDIGHATI GATE (JAIPUR CITY)	JAIPUR	Regular	170	OBC PH	DC	20	20	400	32	75	Draw of Lots	15	4
126	BETWEEN KM STONE 24 TO KM STONE 28 ON	CHURU	Daniel -	100	SC PH	CFS	35	25	1225	0	0	D	0	3
126	SH106	СНОКО	Regular	100	ЗСРП	UFS	33	35	1225	U .	U .	Draw of Lots	, , , , , , , , , , , , , , , , , , ,	3
127	ON VIT ROAD FROM NRI INTERSECTION (AVIRAL CHOURAHA) TO VIVEKANAND	JAIPUR	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	GLOBAL UNIVERSITY (JAIPUR CITY)	3/11/01/	педани	100	0.12.14	00	20	100	100	52	, ,	Diam of Loca		
	ON GHATI KAROLAN ROAD WITHIN 3KM													
128	FROM CBI PHATAK VIA RTO OFFICE JAGATPURA TOWARDS KHO NAGORIYA	JAIPUR	Regular	170	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	(JAIPUR CITY)													
129	FROM SANWALI CIRCLE TO RANI SATI CIRCLE	SIKAR	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
	(SIKAR CITY)					-							-	
400	ON NH-52 BETWEEN 200 FEET AJMER DELHI			250	00541									_
130	BYPASS ROAD INTERSECTION AND TODI MOD (WITHIN MUNICIPAL LIMIT OF JAIPUR)	JAIPUR	Regular	250	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	ON NH 148 BETWEEN KM STONE 43 TO KM													
131	STONE 47 ON RIGHT HAND SIDE WHILE	JAIPUR	Regular	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	GOING TOWARDS DAUSA													
132	WITHIN 3 KM FROM SIRSI MODE TOWARDS	JAIPUR	Regular	220	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	NIMEDA ON SIRSI ROAD (JAIPUR CITY)													Ľ
133	WITHIN MUNICIPAL LIMIT OF BHIWADI	ALWAR	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
134	ON NIWARU ROAD BETWEEN JAIPUR DELHI BYPASS TO JHOTWARA POLICE STATION	JAIPUR	Regular	230	OPEN	DC	20	20	400	32	75	Draw of Lots	15	
134	(JAIPUR CITY)	JAIPOK	Regulai	230	OPEN	DC	20	20	400	32	/3	Diaw of Lots	13	ľ
135	WITHIN MUNICIPAL LIMIT OF CHOMU	JAIPUR	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
136	WITHIN MUNICIPAL LIMIT OF RATANNAGAR	CHURU	Regular	105	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
														<u> </u>
437	BETWEEN CHOMU PULIA AND JAIPUR-DELHI	IAIDIIB	Bogs-1	210	ODEN	DC	20	20	400	22	75	Draw of Late	15	-
137	BYPASS INTERSECTION ON SIKAR ROAD RIGHT HAND SIDE WHILE GOING TOWARDS SIKAR	JAIPUK	Regular	210	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
			-					-	-					
	ON AMRPALI MARG FROM 200 AJMER- DELHI				0051:									_
138	BYPASS INTERSECTION TO QUEENS ROAD INTERSECTION (JAIPUR CITY)	JAIPUR	Regular	200	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
			-			-		-	-				-	
139	WITHIN 2 KM FROM SURYAMANDAL GROUND	JHUNJHUNU	Regular	140	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
	MAIN GATE ON JHAJHAR ROAD NAWALGARH													
140	BETWEEN KM STONE 78 TO KM STONE 83 ON SH107	CHURU	Regular	110	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
	ON MAHARANA PRATAP MARG WITHIN 4 KM													
4.44	FROM AJMER DELHI 200FT BYPASS	IAIDIIB	Bog: t	220	ODEN	DC.	20	20	400	22	75	Draw of Late	15	_
141	INTERSECTION TOWARDS RANGOLI GARDEN	JAIPUR	Regular	230	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	TOWNSHIP (JAIPUR CITY)													
142	VAISHALI NAGAR ON MINIMUM 24 METER ROAD (JAIPUR CITY)	JAIPUR	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
								1	1				1	
143	WITHIN MUNCIPAL LIMIT OF SUJANGARH	CHURU	Regular	110	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
	BETWEEN KM STONE NO 9 TO KM STONE TO		1					I						
144	13 (KM STONE AS PER NH11A) ON	DAUSA	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	NH11A(NEW NH148) LEFT HAND SIDE WHILE MOVING FROM DAUSA TO LALSOT							1						
			-					-	-					
4.45	ON JHOTWARA ROAD BETWEEN JAIPUR-	IAIDIIB	Bogs-1	160	ODEN	DC	20	20	400	22	75	Draw of Late	15	-
145	DELHI BYPASS INTERSECTION AND PANCHAYAT SAMITI JHOTWARA (JAIPUR CITY)	JAIPUR	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
			-					-	-				-	
	ON ISKCON ROAD BETWEEN NEW SANGANER													_
	ROAD INTERSECTION AND PATRAKAR ROAD INTERSECTION (JAIPUR CITY)	JAIPUR	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
146								-						
146				1	1	ı	I	20	400	32	l		45	5
	FROM KHIRNI PHATAK TO KANAKPURA	IAIPUR	Regular	310	OPEN	DC	120				75	IDraw of Lots		1-
146		JAIPUR	Regular	310	OPEN	DC	20	20	400	32	75	Draw of Lots	15	
	FROM KHIRNI PHATAK TO KANAKPURA RAILWAY MALGODAM ON MALGODAM ROAD	JAIPUR	Regular	310	OPEN	DC	20	20	400	32	75	Draw of Lots	15	
	FROM KHIRNI PHATAK TO KANAKPURA RAILWAY MALGODAM ON MALGODAM ROAD (JAIPUR CITY) BETWEEN KM STONE 304 TO KM STONE 312 ON NH 48 (OLD NH 08) LEFT HAND SIDE	JAIPUR	Regular Regular	160	OPEN OBC CC 1	DC DC	35	35		32	95	Draw of Lots	15	4
147	FROM KHIRNI PHATAK TO KANAKPURA RAILWAY MALGODAM ON MALGODAM ROAD (JAIPUR CITY) BETWEEN KM STONE 304 TO KM STONE 312 ON NH 48 (OLD NH 08) LEFT HAND SIDE WHILE GOING FROM JAIPUR TO AJMER													4
147	FROM KHIRNI PHATAK TO KANAKPURA RAILWAY MALGODAM ON MALGODAM ROAD (JAIPUR CITY) BETWEEN KM STONE 304 TO KM STONE 312 ON NH 48 (OLD NH 08) LEFT HAND SIDE	JAIPUR							1225				15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dim	nension (in M.)// (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	cc/Dc/cFs	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
150	BETWEEN KM STONE 1 TO KM STONE 5 ON SH	DHOLPUR	Regular	120	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
151	43 WITHIN MUNICIPAL LIMITS OF NAGAR	BHARATPUR	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots		4
	ON VATIKA ROAD WITHIN 3 KM FROM TONK													
152	ROAD INTERSECTION ON LEFT HAND SIDE TOWARDS VATIKA (JAIPUR CITY) WITHIN MUNICIPAL LIMIT OF BAGRU ON	JAIPUR	Regular	210	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
153	MINIMUM 24 METER ROAD	JAIPUR	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
154	ON NH 248 FROM GALTA GATE TO SHRI GURUNANAK DEV JI CIRCLE ON LEFT HAND SIDE WHILE GOING TOWARDS DELHI	JAIPUR	Regular	160	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
155	BETWEEN KM STONE 26 TO KM STONE 29 ON NH11	JHUNJHUNU	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
156	ON THE LINK ROAD CONNECTING SH24 TO NH23 (VIA SAVITRIBAI PHULE CIRCLE) WITHIN MUNICIPAL LIMIT OF LALSOT	DAUSA	Regular	160	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
157	WITHIN MUNICIPAL LIMIT OF ALWAR	ALWAR	Regular	160	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
158	BHARATPUR TO JAIPUR	DAUSA	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
159	BETWEEN KM STONE NO 148 TO KM STONE 152 ON NH21 LEFT HAND SIDE FROM BHARATPUR TO JAIPUR	DAUSA	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
160	BETWEEN SAGIRA CIRCLE TO NOBLE PUBLIC SCHOOL MAIN GATE(JHUNJHUNU) ON SH41(JHUNJHUNU - MALSISAR ROAD)	UNUHLNUHL	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
161	WITHIN MUNICIPAL LIMIT OF KHAIRTHAL	ALWAR	Regular	100	OPEN CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
162	BETWEEN KM STONE 29 TO KM STONE 31 ON NH 248A	ALWAR	Regular	160	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
163	ON NH 48 (OLD NH-8) FROM BEHROR FLY OVER TO HOTEL HIGHWAY EXPRESS MAIN ENTRANCE(BEHROR) LEFT HAND SIDE WHILE MOVING FROM DELHI TO JAIPUR	ALWAR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
164	WITHIN MUNICIPAL LIMITS OF MANDAWA	UNUHLINUHL	Regular	120	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
165	WITHIN MUNICIPAL LIMIT OF HINDAUN CITY	KARAULI	Regular	110	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
166	BETWEEN HANUMAN CIRCLE AND BHUGOR TIRAHA ON NH248A	ALWAR	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
167	BETWEEN KM STONE 408 TO KM STONE 412 ON NH11	SIKAR	Regular	160	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
168		JAIPUR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
169	WITHIN MUNICIPAL LIMITS NAWALGARH	JHUNJHUNU	Regular	170	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
170	BETWEEN KM STONE 31 TO KM STONE 34 ON NH11	JHUNJHUNU	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
171	FROM KM STONE NO 53 TO KM STONE 55(KM STONE AS PER NH11A) ON NH11A(NEW NH23)	DAUSA	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
172	MATSYA INDUSTRIAL AREA WITHIN UIT LIMIT OF ALWAR	ALWAR	Regular	145	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
173	WITHIN MUNICIPAL LIMIT OF BARL (NOT ON	DHOLPUR	Regular	120	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
174	BETWEEN KM STONE 56 TO KM STONE 62 ON	BHARATPUR	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
175	ON NH52 FROM KM STONE 33 TO KM STONE 39 RIGHT HAND SIDE FROM JAIPUR TO TONK	JAIPUR	Regular	160	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
176	MANDI VIA CIRCUIT HOUSE (SIKAR CITY)	SIKAR	Regular	120	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
177	BETWEEN KM STONE 95 TO KM STONE 99 ON NH52	SIKAR	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
178		UNUHLINUHL	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
		ALWAR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
180	FROM KM STONE NO 59 TO KM STONE 61 (KM STONE AS PER NH11A) ON NH11A(NEW NH23)	DAUSA	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
181	ON NH 48 (OLD NH-8) BETWEEN KM STONE 123 TO KM STONE 121 LEFT HAND SIDE FROM BEHROR TOWARDS DELHI	ALWAR	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
182	WITHIN MUNICIPAL LIMIT OF NEEM KA THANA	SIKAR	Regular	110	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
183	FROM GHODAFER CHOURAHA TO ROTARY CIRCLE VIA JYOTI RAO PHULE CIRCLE WITHIN MUNICIPAL LIMITS OF ALWAR CITY	ALWAR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
184	ON SH-14 BETWEEN KM STONE 114 TO KM STONE 118	ALWAR	Regular	120	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
185	KM STONE 320 TO KM STONE 328 ON NH 52 LEFT HAND SIDE WHILE GOING FROM JAIPUR TO BIKANER	SIKAR	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
	WITHIN MUNICIPAL LIMITS OF ALWAR CITY FROM AGRASEN CIRCLE TO NAMAN HOTEL VIA NEB CIRCLE	ALWAR	Regular	110	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)/. (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
187	FROM BHAGAT SINGH CIRCLE TO JAIL CIRCLE VIA AMBEDKAR CIRCLE WITHIN MUNICIPAL LIMITS OF ALWAR	ALWAR	Regular	120	OPEN PH	DC	30	30	900	32	55	Draw of Lots	15	5
	KM STONE 309 TO KM STONE 315 ON NH 52	SIKAR	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
	BETWEEN KM STONE 149 TO KM STONE 153	DAUSA	Regular	160	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN R.B.M. HOSPITAL AND RIICO LTD	BHARATPUR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
191	WITHIN 5 KM FROM BHADHADAR TIRAHA	SIKAR	Regular	140	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
192	FROM RICCO OFFICE TO INCOME TAX OFFICE NEEM KA THANA ON SH13	SIKAR	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
193	BETWEEN ASHOK MAHAN COLLEGE AND GRAM PANCHAYAT OFFICE LADPURA ON NH23	DAUSA	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
		ALWAR	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
195	WITHIN MUNICIPAL LIMIT OF JHUNJHUNU (NOT ON NH11 AND SH41) ON NH-248A BETWEEN KM STONE 62 TO KM	JHUNJHUNU	Regular	100	OPEN	DC	30	30		32	55	Draw of Lots	15	5
196	STONE 68	ALWAR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	LIMIT OF ALWAR	ALWAR	Regular	120	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
198	BHARATPUR TO JAIPUR	DAUSA	Regular	160	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
199	UN SH44	BHARATPUR	Regular	105	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5
200	SCHOOL MANCHAWA	JAIPUR	Regular	160	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
201	BETWEEN KM STONE 243 TO KM STONE 247 ON NH-48(OLD NH-08) LEFT HAND SIDE FROM JAIPUR TO DELHI ON NH 148 FROM KM STONE 18 TO KM	JAIPUR	Regular	410	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
202	STONE 20 ON NH-248A FROM KM STONE 122 TO KM	JAIPUR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
203	STONE 126 ON NH52 BETWEEN KM STONE 54 TO KM	ALWAR	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
204		JAIPUR	Regular	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
205		JAIPUR	Regular	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
206	ON NH52	SIKAR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
207	BETWEEN KM STONE 134 TO KM STONE 137(KM STONE AS PER NH-11B) ON NH- 23(OLD NH-11B) (GANGAPUR CITY - KARAULI - DHOLPUR ROAD)	DHOLPUR	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
208	WITHIN 3KM FROM INTERSECTION OF SUMEL ROAD WITH NH-21 ON SUMEL ROAD (WITHIN MUNCIPAL LIMIT OF JAIPUR)	JAIPUR	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
209	MOVING FROM JAIPUR TO SIKAR	SIKAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
210	SH 13	JAIPUR	Regular	120	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
211	STONE 126	ALWAR	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE 280 TO KM STONE 285 ON NH 48 (OLD NH 08) RIGHT HAND SIDE WHILE GOING FROM JAIPUR TO AJMER	JAIPUR	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	ON SH-12 BETWEEN KM STONE 10 TO KM	CHURU	Regular Regular	117	OPEN CC 1	DC DC	30 35	30		32	55 75	Draw of Lots Draw of Lots	15	5
215	PHAGI WITHIN 3 KM FROM SITAWAT ROAD AND SH29A INTERSECTION TOWARDS PALPUR ON	ALWAR	Regular	100	SC	CFS	35	35		0	0	Draw of Lots		3
	SH 29A ON NH 48 (OLD NH08) FROM KM STONE 170 TO KM STONE 179 LEFT HAND SIDE WHILE	JAIPUR	Regular	160	OPEN	сс	35	35	1225	32	12	Bidding	30	5
217	GOING FROM JAIPUR TO DELHI KM STONE 268 TO KM STONE 272 ON NH 52 LEFT HAND SIDE WHILE MOVING FROM	JAIPUR	Regular	170	OPEN	DC	35	35		32	95	Draw of Lots	15	5
210	JAIPUR TO SIKAR BETWEEN KM STONE 19 TO KM STONE 24 ON SH90(NEW SH2C) JAIPUR JOBNER ROAD	JAIPUR	Regular	160	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
219	BETWEEN KM STONE 77 TO KM STONE 84 (KM STONE AS PER NH-23) ON NH-23(OLD NH-11B) (GANGAPUR CITY - KARAULI - DHOLPUR ROAD)	KARAULI	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	ROAD) FROM KM STONE NO 37 TO KM STONE 40(KM STONE AS PER NH11A) ON NH11A(NEW NH148)	DAUSA	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE 74 TO KM STONE 79 ON NH-11	JHUNJHUNU	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dim	nension (in M.)// (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
					OPEN CC 1 OPEN CC 2 OPEN PH									
222	BETWEEN KM STONE 10 TO KM STONE 12 ON SH-87	UNUHUNU	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
223	BETWEEN KM STONE 65 TO KM STONE 70 ON NH-11 BETWEEN KM STONE NO 114 TO KM STONE	JHUNJHUNU	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
224		DAUSA	Regular	160	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
	WHILE GOING FROM JAIPUR TO AJMER	JAIPUR	Regular	160	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
226	BETWEEN KM STONE 38 TO KM STONE 41 ON NH11	JHUNJHUNU	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
227	ON NH 248 FROM KM STONE NO 5 TO KM STONE 10 LEFT HAND SIDE WHILE GOING FROM JAIPUR TO DELHI BETWEEN KM STONE 23 TO KM STONE 27 ON	JAIPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
228	SH-8 ON SH-25 FROM KM STONE 186 TO KM STONE	SIKAR	Regular	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
229	184 LEFT HAND SIDE FROM BHIWADI TOWARDS ALWAR BETWEEN KM STONE 341 TO KM STONE 346	ALWAR	Regular	110	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
230		JAIPUR	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
231	STONE 116 BETWEEN KM STONE 77 TO KM STONE 82 ON	ALWAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
232	SH22 BETWEEN KM STONE NO 21 TO KM STONE 82 ON	KARAULI	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
233	ON NH23	DAUSA	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE 258 TO KM STONE 262 ON NH 52 LEFT HAND SIDE WHILE MOVING TOWARD SIKAR ON NH 48 (OLD NH08) FROM KM STONE 165	JAIPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
		JAIPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
236		SIKAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	GOVERNMENT COLLEGE NADBAI ON NADBAI BYPASS ROAD SH45 WITHIN 2 KM FROM BHOSANA POST OFFICE	BHARATPUR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
238	TOWARDS LOSAL ON SH-37 B ON NH52 FROM KM STONE 40 TO KM STONE	SIKAR	Regular	135	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
239	48 LEFT HAND SIDE FROM JAIPUR TO TONK WITHIN 2 KM OF DELHI PUBLIC SCHOOL	JAIPUR	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
	BANDIKUI ON SH78 KM STONE 309 TO KM STONE 315 ON NH 52	DAUSA	Regular	120	OBC	DC	35	35	1225	32	75 95	Draw of Lots Draw of Lots	15	5
	JAIPUR TO BIKANER BETWEEN KM STONE 21 TO KM STONE 28 ON													_
242	SH 2A (DHOLPUR - RAJAKHEDA ROAD)	DHOLPUR	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
243	BETWEEN KM STONE 63 TO KM STONE 67 ON NH58	CHURU	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
244	ON SH01 FROM KM STONE 439 TO KM STONE 441	BHARATPUR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
245	ON NH 248A BETWEEN KM STONE 94 TO KM STONE 100 ON LEFT HAND SIDE FROM HANUMAN CIRCLE TO LOHIYA KA TIBARA	ALWAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
246	BETWEEN KM STONE 179 TO KM STONE 183 (KM STONE AS PER NH-11B) ON NH-23(OLD NH-11B) (GANGAPUR CITY - KARAULI - DHOLPUR ROAD)	DHOLPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
247	ON NH52 FROM KM STONE 40 TO KM STONE 48 RIGHT HAND SIDE FROM JAIPUR TO TONK	JAIPUR	Regular	160	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
248	ROAD)	CHURU	Regular	110	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
249	BETWEEN KM STONE 420 TO KM STONE 424 ON NH11	CHURU	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
250	BETWEEN KM STONE 133 TO KM STONE 136 ON SH6	CHURU	Regular	106	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
251	WITHIN MUNICIPAL LIMIT OF BANDIKUI	DAUSA	Regular	110	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
252	ON NH-248A BETWEEN KM STONE 106 TO KM STONE 109	ALWAR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
253	FROM JAIPUR TO DELHI	JAIPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
254	ON SH-32 BETWEEN KM STONE 64 TO KM STONE 69 BETWEEN KM STONE 377 TO KM STONE 377	ALWAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	BETWEEN KM STONE 374 TO KM STONE 377 ON SH 1 (GANGAPUR CITY- HINDAUN- BAYANA ROAD)	KARAULI	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
	WHILE GOING FROM JAIPUR TO AJMER	JAIPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
257	KM STONE 252 TO KM STONE 256 KM ON NH- 52 RIGHT HAND SIDE WHILE MOVING TOWARD SIKAR	JAIPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
258	BETWEEN KM STONE 37 TO KM STONE 40 ON NH921	ALWAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)/. (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
					SC CC 1 SC PH ST	-								
			Regular / Rural	MS+HSD in KLs	ST CC 1 ST PH OBC	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement	Estimated fund required for development	Draw of Lots / Bidding		
					OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH					for operation of RO	infrastructure at RO			
259	ON SH-52 BETWEEN KM STONE 51 TO KM STONE 55	ALWAR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
260	BETWEEN KM STONE 195 TO KM STONE 199 ON SH6	CHURU	Regular	115	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
261	WITHIN 4 KM OF NH921 AND DELHI MUMBAI EXPRESSWAY INTERSECTION TOWARDS GARHI SAWAIRAM ON NH 921	ALWAR	Regular	160	OPEN	сс	35	35	1225	32	12	Bidding	30	5
262	WITHIN 6 KM FROM KATI GHATI HANUMANJI TEMPLE ON NH-248A TOWARDS THANAGAZI	ALWAR	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
263	ON SH 25 BETWEEN KM STONE 97 TO KM STONE 100	ALWAR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
264		KARAULI	Regular	110	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
265	TOWARDS MANDRAYAL BETWEEN KM STONE 8 TO KM STONE 11 ON NH-52	SIKAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
266	BETWEEN KM STONE 288 TO KM STONE 296 ON NH 48 (OLD NH 08) LEFT HAND SIDE WHILE GOING FROM JAIPUR TO AJMER	JAIPUR	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
267	BETWEEN KM STONE 105 TO KM STONE 108 ON NH52 LEFT HAND SIDE WHILE GOING FROM SIKAR TO CHURU	SIKAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
268	BETWEEN KM STONE 318 TO KM STONE 321 ON NH48(OLD NH08) RIGHT HAND SIDE FROM JAIPUR TO AJMER	JAIPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
269	WITHIN 3 KM OF GUNTA SHAHPUR BUS	ALWAR	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
270	STAND ON SH52 BETWEEN KM STONE 6 TO KM STONE 12 ON	DHOLPUR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
271	SH-42(BARI- SAIPAU ROAD) ON SH 12 BETWEEN KM STONE 17 TO KM STONE 24 LEFT HAND SIDE FROM JAIPUR TO	JAIPUR	Regular	165	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
272	PHAGI ON MUHANA ROAD BETWEEN MUHANA MANDI GATE NO 1 AND MUHANA POWER	JAIPUR	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	HOUSE IN JAIPUR CITY BETWEEN KM STONE 107 TO KM STONE 110					CFS				0	0		0	3
273	ON SH20 BETWEEN KM STONE 1 TO KM STONE 4 ON	CHURU	Regular	118	SC		35	35				Draw of Lots	0	-
2/4	SH110 WITHIN 6 KM FROM AHINSA CIRCLE	KARAULI	Regular	101	OBC	DC	35	35		32	75	Draw of Lots	15	4
275	KATHUMAR TOWARDS KHERLI ON SH22 FROM PRAKASH HOSPITAL TO GANDHI	ALWAR	Regular	110	OPEN	DC	35	35		32	75	Draw of Lots	15	5
	OF DAUSA	DAUSA	Regular	160	OPEN	сс	35	35	1225	32	12	Bidding	30	5
277	STONE 179 BETWEEN KM STONE 384 TO KM STONE 387 ON SH 1 (GANGAPUR CITY- HINDAUN-	BHARATPUR KARAULI	Regular Regular	110	OBC	DC CFS	35	35	1225	0	75	Draw of Lots Draw of Lots	15	2
	BAYANA ROAD) PRAHLADPURA RIICO INDUSTRIAL AREA ON													
279	INNER SERVICE ROAD OF RING ROAD (JAIPUR CITY) WITHIN 3 KM FROM BALAJI MANDIR	JAIPUR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
280	ON SH-8	JHUNJHUNU	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
281	BETWEEN KM STONE 30 TO KM STONE 33 ON SH 44 BETWEEN KM STONE 397 TO KM STONE 403	ALWAR	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
282	ON SH01 WITHIN 5 KM FROM RAILWAY CROSSING AT	BHARATPUR	Regular	100	ST	CFS	35	35		0	0	Draw of Lots	0	3
283	CHOMU ON SH8B TOWARDS KALADERA BETWEEN KM STONE 245 TO KM STONE 249	JAIPUR	Regular	125	OPEN	DC	35	35		32	75	Draw of Lots	15	5
284	ON SH7 WITHIN 2 KM FROM BSNL OFFICE	CHURU	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
285	DATARAMGARH TOWARDS KHOOR ON SH-8A	SIKAR	Regular	100	OBC	DC	35	35		32	75	Draw of Lots	15	4
280	BETWEEN KM STONE 136 TO KM STONE 138 ON SH02	JAIPUR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
287	9U(NEW SH2C) RETWEEN VM STONE 150 TO VM STONE 152	JAIPUR	Regular	110	SC	CFS	35	35		0	0	Draw of Lots	_	3
288	ON SH-37	JHUNJHUNU	Regular	100	OBC	DC	35	35		32	75	Draw of Lots	15	4
289	ON SH20	CHURU	Regular	110	OPEN CC 1	DC	35	35		32	75	Draw of Lots	15	5
290	STONE 52 BETWEEN GOVERNMENT SENIOR SECONDARY	JAIPUR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
291	SCHOOL EKAT TO KUSHAL SINGH BABA MANDIR GORDHANPURA ON SH-122(OLD MDR 111) BETWEEN KM. STONE 122 TO KM STONE 124	KARAULI	Regular	110	ST	CFS DC	35 35	35	1225	32	75	Draw of Lots Draw of Lots	15	3
	ON SH-82 BETWEEN KM STONE 27 TO KM STONE 29 ON		Regular											5
293	NH921 BETWEEN KM STONE NO 84 TO KM STONE 86	DAUSA	Regular	120	OPEN	DC	35	35	1225	32	95 75	Draw of Lots Draw of Lots	15	5
295	ON SH25 BETWEEN KM STONE 47 TO KM STONE 50 ON	JHUNJHUNU	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
296	NH709EX (PILANI-LOHARU ROAD) WITHIN 6 KM FROM NH21 INTERSECTION AT HALENA TOWARDS NADBAI ON SH45	BHARATPUR	Regular	102	ОВС	DC	35	35		32	75	Draw of Lots	15	4
297	BETWEEN KM STONE 9 TO KM STONE 12 ON KALWAR ROAD SH90(NEW SH2C) ON LEFT HAND SIDE WHILE GOING TOWARDS KALWAR	JAIPUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)/. (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
298	BETWEEN KM STONE 100 TO KM STONE 110 ON NH21 LEFT HAND SIDE TOWARDS AGRA	BHARATPUR	Regular	160	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
299	WITHIN 4 KM OF NH-52 INTERSECTION ON SH 113 TOWARDS SHRIMADHOPUR	SIKAR	Regular	110	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
300	BETWEEN KM STONE NO 164 TO KM STONE 167 ON NH21 RIGHT HAND SIDE FROM BHARATPUR TO JAIPUR	DAUSA	Regular	160	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
	VIA OLD SABJI MANDI	DHOLPUR	Regular	110	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
302	BETWEEN KM STONE 156 TO KM STONE 160 ON SH6	CHURU	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
303	ON SH 14 BETWEEN KM STONE 175 TO KM STONE 184	ALWAR	Regular	110	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
304	ON SH83	SIKAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
305	BETWEEN KM STONE 16 TO KM STONE 21 ON SH-36	CHURU	Regular	102	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
306	ON SH52 FROM NH148 INTERSECTION TO PITAMBAR SOLVEX PVT. LTD	JAIPUR	Regular	155	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
307	BETWEEN KM STONE 6 TO KM STONE 12 ON SH-20	SIKAR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
308	BETWEEN KM STONE 15 TO KM STONE 23 ON SH-20	SIKAR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
309	BETWEEN KM STONE 179 TO KM STONE 182 ON SH25 (DARUHERA TO GANGAPUR CITY)	KARAULI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
310	KALOTA TOWARDS DAUSA ON SH78	DAUSA	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
311	BETWEEN KM STONE 39 TO KM STONE 43 ON SH 35 FROM GARHI SAWAIRAM TO LAXMANGARH.	ALWAR	Regular	110	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
312	BETWEEN SH37 - NH-52 INTERSECTION AND SAMOD POLICE STATION ON SH 37	JAIPUR	Regular	120	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
313	WITHIN 3 KM FROM BAMBOLI MODE TOWARDS BADODAMEO ON SH 14	ALWAR	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
314	ON SH-37B	SIKAR	Regular	120	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
315	BETWEEN PEERUSINGH CIRCLE TO AGRASEN CIRCLE WITHIN MUNICIPAL LIMIT OF JHUNJHUNU	JHUNJHUNU	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
316	BETWEEN KM STONE 277 TO KM STONE 281 ON SH7	CHURU	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
317	BETWEEN KM STONE 121 TO KM STONE 123 ON SH-37	JHUNJHUNU	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
318	WITHIN 5 KM FROM KARANPUR MODE AT MANDRAIL TOWARDS KARANPUR ON SH-137	KARAULI	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
319	FROM JAIL KA CHOURAHA TO BHRATHARI PANAROMA MONUMENT ON ALWAR - BEHROR ROAD (SH-14)	ALWAR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
320	SIKAR	JAIPUR	Regular	160	OPEN	сс	35	35	1225	32	12	Bidding	30	5
321	ON SH22 BETWEEN KM STONE 162 TO KM STONE 168	BHARATPUR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
322	WITHIN 5 KM FROM BUS DEPOT AJEETGARH ON SH13 TOWARDS SHAHPURA	SIKAR	Regular	110	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
323	BETWEEN KM STONE 128 TO KM STONE 132 ON SH37B	SIKAR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
324	BETWEEN KM STONE 63 TO KM STONE 71 ON SH02	JAIPUR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
325	ON SH-14 BETWEEN KM STONE 145 TO KM STONE 152 WITHIN 05 KM FROM AADARSH RAJKIYA	ALWAR	Regular	100	ОВС РН	DC	35	35	1225	32	75	Draw of Lots	15	4
326	SWASTHYA KENDRA DEVIKOT TOWARDS BARMER ON NH 68	JAISALMER	Regular	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
327	WITHIN 8 KM FROM GORA HOTEL ON RIGHT HAND SIDE WHILE MOVING TOWARDS DANGIYAWAS (ON JODHPUR BYPASS ROAD) ON LEFT HAND SIDE FROM VEER TEJA BRIDGE	JODHPUR	Regular	175	OPEN	сс	30	30	900	32	12	Bidding	30	5
328	TO VIDYA PUBLIC SENIOR SECONDARY SCHOOL ON JODHPUR-BANAR ROAD IN JODHPUR CITY	JODHPUR	Regular	205	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
329	SEC SCHOOL SOORSAGAR IN JODHPUR CITY	JODHPUR	Regular	175	ОВС	сс	20	20	400	32	12	Bidding	30	4
330	FROM JHALAMAND CIRCLE TO AMRITAM HOSPITAL ON GUDA ROAD IN JODHPUR CITY FROM AMRITLAL GEHLOT STADIUM	JODHPUR	Regular	175	OPEN	сс	20	20	400	32	12	Bidding	30	5
	MANDORE TO BHATI CHORAHA VIA GOKUL JI KI PIYAU IN JODHPUR CITY FROM JALORI GATE CIRCLE TO AKHILYA	JODHPUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
332	CITY	JODHPUR	Regular	180	OPEN	сс	20	20	400	32	12	Bidding	30	5
333	ON RIGHT HAND SIDE FROM SHATABADI CIRCLE TO GORA HOTEL ON JODHPUR BYPASS FROM T-JUNCTION (INTERSECTION WITH	JODHPUR	Regular	175	OBC	сс	30	30	900	32	12	Bidding	30	4
334	AIIMS ROAD) TO SANGARIYA BYPASS CIRCLE THROUGH BASNI INDUSTRIAL AREA IN JODHPUR CITY	JODHPUR	Regular	180	OPEN	сс	20	20	400	32	12	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)/. (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
335	ON RIGHT HAND SIDE FROM VEERETJA BRIDGE TO BANAR POLICE STATION ON JODHPUR-BANAR ROAD IN JODHPUR CITY	JODHPUR	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
336	FROM BHADWASIYA OVERBRIDGE TO MATA KA THAN VIA NARSINGHJI KI PIYAU CIRCLE IN	JODHPUR	Regular	160	ОВС	сс	20	20	400	32	12	Bidding	30	4
337	JODHPUR CITY FROM NEHAR CHAURAHA TO T-JUNCTION (INTERSECTION WITH CHOPASNI ROAD) VIA ANADARAM PARIHAR SCHOOL IN JODHPUR CITY	JODHPUR	Regular	175	OPEN	сс	20	20	400	32	12	Bidding	30	5
338	WITHIN 3 KM FROM HALDIRAM PIYAU TOWARDS NAPASAR ON SAGAR ROAD IN BIKANER CITY	BIKANER	Regular	180	OPEN CC 1	сс	20	20	400	32	12	Bidding	30	5
339	FROM CHOPAD CHOURAHA TO MANDORE CIRCLE VIA PANNALAL GAUSHALA IN JODHPUR CITY	JODHPUR	Regular	150	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
340	JODHPUR CITY ON LEFT HAND SIDE WHILE MOVING FROM BARMER TO JODHPUR BETWEEN KM STONE 175 AND KM STONE 180 ON NH-25 (JODHPUR- BARMER ROAD)	JODHPUR	Regular	180	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
341	ON RIGHT HAND SIDE FROM SHASTRI NAGAR POLICE STATION TO NEHAR CHAURAHA ON PAL ROAD IN JODHPUR CITY	JODHPUR	Regular	180	OPEN	сс	20	20	400	32	12	Bidding	30	5
342	FROM NEHAR CHAURAHA TO DPS CIRCLE ON PAL ROAD IN JODHPUR CITY	JODHPUR	Regular	180	OPEN	сс	20	20	400	32	12	Bidding	30	5
343	BETWEEN KM STONE 20 AND KM STONE 24 ON NH 125 (JODHPUR - POKHRAN ROAD)	JODHPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
344	BETWEEN KM STONE 27 AND 33 ON NH 125 (JODHPUR - POKHRAN ROAD) FROM ANADARAM PARIHAR SCHOOL TO DALI	JODHPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
345	BAI CIRCLE ON JHANWAR ROAD IN JODHPUR CITY	JODHPUR	Regular	175	OPEN	сс	20	20	400	32	12	Bidding	30	5
346	ON RIGHT HAND SIDE WHILE MOVING FROM BARMER TO JODHPUR BETWEEN KM STONE 175 AND KM STONE 180 ON NH-25 (JODHPUR- BARMER ROAD)	JODHPUR	Regular	200	OPEN	сс	35	35	1225	32	12	Bidding	30	5
347	FROM PAOTA CIRCLE TO MANDORE CIRCLE VIA BSF CAMPUS IN JODHPUR CITY	JODHPUR	Regular	180	OPEN	сс	20	20	400	32	12	Bidding	30	5
348	BETWEEN KM STONE 255 AND KM STONE 260 ON NH-68 BETWEEN KM STONE 18 AND KM STONE 22	JALORE	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
349	ON SH-31 A	JALORE	Regular	110	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
350	BETWEEN KM STONE 222 AND KM STONE 227 ON NH 11 (JAISALMER -BIKANER ROAD)	JAISALMER	Regular	150	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
351	NOKHA (WITHIN MUNICIPAL LIMITS) ON MINIMUM 80 FEET OR WIDER ROAD WITHIN 03 KM ON EITHER SIDE OF RTO	BIKANER	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
352	OFFICE PIPAR CITY ON SH-21 (PIPAR CITY TO MERTA ROAD)	JODHPUR	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
353	WITHIN 4 KM FROM MUNDRA PARK CIRCLE PIPARCITY TOWARDS RIYAN ON SH-21	JODHPUR	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
354	FROM AKHILYA CIRCLE TO T-JUNCTION (INTERSECTION WITH SOORSAGAR BYPASS ROAD) ON SOORSAGAR ROAD IN JODHPUR CITY	JODHPUR	Regular	180	OPEN	сс	20	20	400	32	12	Bidding	30	5
355	WITHIN 2 KM OF ADARSH VIDYA MANDIR SCHOOL NAPASAR TOWARDS MOONDSAR ON SH-20B	BIKANER	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
356	BETWEEN KM STONE 125 AND KM STONE 131 ON SH-61 (RATANADA TO SARDAR SAMAND ROAD)	JODHPUR	Regular	175	OPEN	сс	30	30	900	32	12	Bidding	30	5
357	FROM 5TH ROAD CIRCLE TO SHASTRI NAGAR POLICE STATION ON PAL ROAD IN JODHPUR CITY	JODHPUR	Regular	180	OPEN	сс	20	20	400	32	12	Bidding	30	5
358	BETWEEN KM STONE 155 AND KM STONE 160 ON NH 25 (BARMER - JODHPUR ROAD)	JODHPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
359	BETWEEN KM STONE 188 AND KM STONE 192 ON SH-87A (RORA- KAKKOO ROAD)	BIKANER	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
360	ON RIGHT HAND SIDE WITHIN 5 KM FROM D- MART TOWARDS PALI ON NH-62 (JODHPUR- PALI ROAD)	JODHPUR	Regular	170	OPEN	сс	30	30	900	32	12	Bidding	30	5
361	BETWEEN KM STONE 65 AND KM STONE 70 ON NH925	BARMER	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
362	FROM CHAUKHUNTI FLYOVER TO INTERSECTION WITH JAISALMER ROAD VIA MM GROUND & SHAHR-E-KHAMOSH BADA KABRISTAN IN BIKANER CITY	BIKANER	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
363	WITHIN 3 KM FROM SRIDUNGARGARH CHORAHA TOWARDS BANA ON SH-93 (SRIDUNGARGARH -BIDASAR ROAD)	BIKANER	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
364	FROM ROYALTY CIRCLE TO (T-JUNCTION) INTERSECTION WITH SOORSAGAR BYPASS ROAD VIA SANT SHRI SUKHRAM DAS GAUSHALA IN JODHPUR CITY	JODHPUR	Regular	240	OPEN	сс	20	20	400	32	12	Bidding	30	5
365	ON RIGHT HAND SIDE FROM AKHILYA CIRCLE TO SHAHI BAGH GARDEN ON CHOPASNI ROAD IN JODHPUR CITY	JODHPUR	Regular	300	OPEN	сс	20	20	400	32	12	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dim	nension (in M.)// (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8	ı	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 1	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
366	WITHIN 3 KMS FROM NARAIN GLOBAL ACADEMY JHAJHU TOWARDS MOKHA ON SH- 87 A	BIKANER	Regular	100	OPEN PH OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
367	BETWEEN KM STONE 209 AND KM STONE 214 ON NOKHA BYPASS (NH62)	BIKANER	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
368	FROM BOMBAY MOTOR CIRCLE TO MEDICAL CHOURAHA VIA JALJOG CIRCLE IN JODHPUR CITY	JODHPUR	Regular	300	OPEN	сс	20	20	400	32	12	Bidding	30	5
369	FROM RIKTIYA BHERUJI TO NEW POWER HOUSE CIRCLE VIA INDIRA GANDHI UDHYAN IN JODHPUR CITY	JODHPUR	Regular	300	OPEN	сс	20	20	400	32	12	Bidding	30	5
370	BETWEEN KM STONE 213 AND KM STONE 216 ON SH -87A (KAKKU TO SARUNDA ROAD)	BIKANER	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
371	BETWEEN KM STONE 66 AND KM STONE 71 ON NH 125 (JODHPUR - POKHRAN ROAD)	JODHPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
372	FROM GHANCHIYO KI PIYAU TO WELCOME HOTEL ON SHIKARGARH-UCHIYARDA ROAD IN JODHPUR CITY	JODHPUR	Regular	200	OPEN	сс	20	20	400	32	12	Bidding	30	5
373	FROM JHALAMAND CIRCLE TO SHATABADI CIRCLE ON NH-62 (JODHPUR-PALI ROAD)	JODHPUR	Regular	220	OPEN	сс	30	30	900	32	12	Bidding	30	5
374	JODHPUR RING ROAD ON LEFT HAND SIDE WHILE MOVING FROM NH 62 INTERSECTION TO PHALODI - JODHPUR ROAD (SH 61) INTERSECTION	JODHPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
375	BETWEEN KM STONE 503 AND KM STONE 507 ON NH-11 (BIKANER-JAIPUR ROAD)	BIKANER	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
376	ON LEFT HAND SIDE FROM SHATABADI CIRCLE TO GORA HOTEL ON JODHPUR BYPASS	JODHPUR	Regular	175	OPEN	сс	30	30	900	32	12	Bidding	30	5
377	JODHPUR RING ROAD ON RIGHT HAND SIDE WHILE MOVING FROM NH 62 INTERSECTION TO PHALODI - JODHPUR ROAD (SH 61) INTERSECTION	JODHPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
378	WITHIN 3KM FROM MATA KA THAN TOWARDS ANGANWA ON SURPURA BYPASS IN JODHPUR CITY	JODHPUR	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
379	FROM NEW POWER HOUSE CIRCLE TO T- JUNCTION (INTERSECTION WITH PAL ROAD) VIA ITI CIRCLE IN JODHPUR CITY	JODHPUR	Regular	280	OPEN	сс	20	20	400	32	12	Bidding	30	5
380	WITHIN 4 KM FROM GAGANI PHANTA ON SH- 63 TOWARDS JAJIWAL BHATIYAN JODHPUR RING ROAD ON LEFT HAND SIDE	JODHPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
381	WHILE MOVING FROM SH 61 INTERSECTION TO JODHPUR-TINWARI ROAD (SH 95) INTERSECTION	JODHPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
382	FROM BASNI FLYOVER TO NEHAR CHORAHA VIA AIIMS IN JODHPUR CITY	JODHPUR	Regular	300	OPEN	сс	20	20	400	32	12	Bidding	30	5
383	ON RIGHT HAND SIDE FROM BASNI FLYOVER TO JHALAMAND CIRCLE ON JODHPUR-PALI ROAD IN JODHPUR CITY	JODHPUR	Regular	300	OPEN	сс	30	30	900	32	12	Bidding	30	5
384	FROM RIKTIYA BHAIRUJI CIRCLE TO BASNI FLYOVER VIA JAI NARAYAN VYAS UNIVERSITY IN JODHPUR CITY	JODHPUR	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
385	JODHPUR RING ROAD ON RIGHT HAND SIDE WHILE MOVING FROM SH 61 INTERSECTION TO JODHPUR-TINWARI ROAD (SH 95) INTERSECTION	JODHPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
386	ON LEFT HAND SIDE FROM BASNI FLYOVER TO JHALAMAND CIRCLE ON JODHPUR-PALI ROAD IN JODHPUR CITY	JODHPUR	Regular	300	OPEN	сс	20	20	400	32	12	Bidding	30	5
387	BETWEEN KM STONE 148 AND KM STONE 153 ON NH-11 (JAISALMER -BIKANER ROAD)	JAISALMER	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
388	BETWEEN KM STONE 165 AND KM STONE 170 ON NH 25 (BARMER - JODHPUR ROAD)	JODHPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
389	POKHRAN ROAD)	JODHPUR	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
390	FROM PANCHBATTI CIRCLE TO RIKTIYA BHERUJI CIRCLE VIA SAMVIT CIRCLE IN JODHPUR CITY FROM KRISHNA NAGAR MOD TO JODHPUR	JODHPUR	Regular	300	OPEN	сс	20	20	400	32	12	Bidding	30	5
391	BYPASS ROAD VIA GD COLLEGE KUDI BHAGTASANI HOUSING BOARD IN JODHPUR CITY	JODHPUR	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
392	FROM MUNDRA PARK TO SATHEEN TIRAHA ON SH-86C (WITHIN MUNICIPAL LIMITS OF PIPARCITY)	JODHPUR	Regular	160	ОВС	сс	35	35	1225	32	12	Bidding	30	4
393	FROM POST OFFICE NARWA TO GOMADEVI GIRLS SR SEC SCHOOL KALI BERI ON JODHPUR- TINWARI ROAD	JODHPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
394	FROM KM STONE 263 TO KM STONE 270 ON NH-25	JODHPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
395	WITHIN 3 KM ON EITHER SIDE OF PUNDLU CHORAHA BORUNDA ON SH-21 (PIPARCITY- BORUNDA-MERTA ROAD)	JODHPUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
396	BETWEEN KM STONE 12 AND KM STONE 17 ON SH-63 (BANAR-BHOPALGARH ROAD)	JODHPUR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
397	BETWEEN KM STONE 134 TO KM STONE 139 ON SH- 61 (JODHPUR- SARDAR SAMAND ROAD)	JODHPUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dim	nension (in M.)// (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OPEN OPEN OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
398	WITHIN 2 KM ON EITHER SIDE OF RAJKIYA UCCHA MADHYAMIK VIDYALAYA SINLI JAAGIR ON SH 28B	JALORE	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
399	FROM SHREE PATALESHWAR GOSHALA SEWARA TO SHRI KRISHNA SR SEC PUBLIC SCHOOL ON SH11 (SANCHORE - RANIWARA ROAD)	JALORE	Regular	100	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5
400	WITHIN 2 KM ON EITHER SIDE OF GHARSANA BUS STAND ON TEHSIL ROAD IN GHARSANA BETWEEN KM STONE 25 AND KM STONE 28	SRI GANGANAGAR	Regular	100	OBC CC 1	DC	30	30	900	32	55	Draw of Lots	15	4
401	ON SH-58 (JODHPUR -SOJAT ROAD)	JODHPUR	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
402	BETWEEN KM STONE 51 AND KM STONE 56 ON NH 125 (JODHPUR - POKHRAN ROAD)	JODHPUR	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
403	FROM GOVT GIRLS PRIMARY SCHOOL INDROKA TO ATAL SEWA KENDRA BALARWA ON JODHPUR-TINWARI ROAD	JODHPUR	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
404	FROM SHIVBARI CHAURAHA TO FLOURISH INTERNATIONAL SCHOOL VIA SHIV BARI TEMPLE IN BIKANER CITY	BIKANER	Regular	180	OPEN	сс	20	20	400	32	12	Bidding	30	5
405	BIKANER NAGAUR ROAD IN BIKANER CITY	BIKANER	Regular	180	OPEN	сс	20	20	400	32	12	Bidding	30	5
406	FROM PUGAL PHANTA TO RYAN INTERNATIONAL SCHOOL ON PUGAL ROAD IN BIKANER CITY	BIKANER	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
407	BETWEEN KM STONE 101 AND KM STONE 106 ON NH-68 (JAILSAMER - SANCHORE ROAD)	BARMER	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
408	FROM SHRI JAIN PG COLLEGE TO KRP SUZUKI DEALERSHIP VIA CINEMAGIC CINEMA IN BIKANER CITY	BIKANER	Regular	175	OPEN	сс	20	20	400	32	12	Bidding	30	5
409	ON MAIN ROAD CONNECTING SP MEDICAL COLLEGE CHAURAHA TO ARYA HOSPITAL SUDARSHNA NAGAR VIA NAGNECHJI MANDIR IN BIKANER CITY	BIKANER	Regular	175	OPEN	сс	20	20	400	32	12	Bidding	30	5
410	WITHIN 4 KM FROM SUB DIVISIONAL	BIKANER	Regular	114	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
411	NH-62 (BIKANEK-SKIGANGANAGAK KUAD)	BIKANER	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
412	ADARSH VIDYA MANDIR SCHOOL ON GADSISAR ROAD IN BIKANER CITY	BIKANER	Regular	180	OPEN	сс	20	20	400	32	12	Bidding	30	5
413	FROM RAJEEV CHOWK TO BHARAT MATA CHOWK IN HANUMANGARH	HANUMANGARH	Regular	150	OPEN CC 1	сс	30	30	900	32	12	Bidding	30	5
414	ON NH-911 (BAP TO PUGAL ROAD)	BIKANER	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	(BIKANER-JAISALMER ROAD)	BIKANER	Regular	172	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
416	(ON MINIMUM 80 FEET OR WIDER ROAD)	BIKANER	Regular	150	OPEN	сс	30	30	900	32	12	Bidding	30	5
417	BETWEEN KM STONE 265 AND KM STONE 269 ON NH-62 (BIKANER - JODHPUR ROAD) BETWEEN KM STONE 45 AND KM STONE 50	BIKANER	Regular	250	OPEN	сс	35	35	1225	32	12	Bidding	30	5
418	ON NH-911 (BAP TO PUGAL ROAD)	BIKANER	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
419	WITHIN 3 KM ON EITHER SIDE OF KRISHI UPAJ MANDI NOKHA ON BIKANER - JODHPUR ROAD	BIKANER	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
420	BETWEEN KM STONE 89 AND KM STONE 94 ON NH-68 (JAILSAMER - SANCHORE ROAD) BETWEEN KM 545 AND KM STONE 550 ON NH-	BARMER	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
421	11 (BIKANER TO JAIPUR ROAD) BETWEEN KM STONE 207 AND KM STONE 210	BIKANER BIKANER	Regular Regular	150	OPEN OBC	DC DC	35	35	1225	32	95 95	Draw of Lots Draw of Lots	15	4
423	ROAD) BETWEEN KM STONE 34 AND KM STONE 38 ON SH-20B ON NAPASAR MOONDSAR ROAD	BIKANER	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
424	BETWEEN KM STONE 120 AND KM STONE 124 ON SH 16 (SAYLA TO BISHANGARH ROAD)	JALORE	Regular	100	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
425	DETWEEN VALCTONE E2 AND VALCTONE E7	JALORE	Regular	100	ОВС РН	DC	35	35	1225	32	75	Draw of Lots	15	4
426	ON LEFT HAND SIDE WHILE MOVING FROM SHATABDI CIRCLE TO SANGARIYA BYPASS CIRCLE ON NEW JODHPUR BYPASS	JODHPUR	Regular	160	OPEN	сс	30	30	900	32	12	Bidding	30	5
427	ON RIGHT HAND SIDE WHILE MOVING FROM SHATABDI CIRCLE TO SANGARIYA BYPASS CIRCLE ON NEW JODHPUR BYPASS	JODHPUR	Regular	160	OPEN	сс	30	30	900	32	12	Bidding	30	5
428	BETWEEN KM STONE 40 AND KM STONE 45 ON SH- 87A	BIKANER	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
	BETWEEN KM STONE 247 AND KM STONE 250	BIKANER	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)// (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
430	ON LEFT HAND SIDE WHILE MOVING FROM SANGARIYA BYPASS CIRCLE TO DPS CIRCLE ON NEW JODHPUR BYPASS	JODHPUR	Regular	170	OPEN	сс	30	30	900	32	12	Bidding	30	5
431	FROM DPS CIRCLE TO DALI BAI CIRCLE ON NEW JODHPUR BYPASS	JODHPUR	Regular	180	OPEN	сс	30	30	900	32	12	Bidding	30	5
432	BETWEEN KM STONE 54 AND KM STONE 58	BIKANER	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
433	BETWEEN KM STONE 35 AND KM STONE 40 ON NH 25 (BARMER TO JODHPUR ROAD)	BARMER	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
434	ON LEFT HAND SIDE WHILE MOVING FROM DALI BAI CIRCLE TO ARNA JHARNA CIRCLE ON NEW JODHPUR BYPASS	JODHPUR	Regular	180	OPEN	сс	30	30	900	32	12	Bidding	30	5
435	WITHIN 3 KMS FROM GOVT SENIOR SECONDARY SCHOOL SANGRIYA TOWARDS BORANADA ON SANGARIA TO BORANADA ROAD IN JODHPUR CITY	JODHPUR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
436	FROM DALI BAI CIRCLE TO KOHINOOR CITY ON JHANWAR ROAD IN JODHPUR CITY	JODHPUR	Regular	180	OPEN	сс	20	20	400	32	12	Bidding	30	5
437	BETWEEN KM STONE 85 AND KM STONE 91 ON NH25E (BARMER - MUNABAO ROAD)	BARMER	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
438	BETWEEN KM STONE 54 AND KM STONE 58 ON NH-325	BARMER	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
439	BETWEEN KM STONE 162 AND KM STONE 166 ON NH 125 (JODHPUR TO POKHARAN ROAD)	JAISALMER	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
440	BETWEEN KM STONE 7 AND KM STONE 12 ON SH-16 (BARMER- SINDHARI ROAD) FROM KM STONE 0 TO KM STONE 2 ON	BARMER	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
441	BORANADA TO JHAWAR ROAD IN JODHPUR CITY	JODHPUR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
442	BETWEEN KM STONE 108 AND KM STONE 112 RAWATSAR-NOHAR ROAD	HANUMANGARH	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
443	WITHIN 2 KMS ON EITHER SIDE OF TRADE FACILITY CENTER BORANADA ON BORANADA - SALAWAS ROAD IN JODHPUR CITY	JODHPUR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
444	WITHIN 4 KM FROM DR. RAJENDRA PRASAD SHAH SIKSHA COLLEGE RAWATSAR TOWARDS RAMPURA ON RAWATSAR RAMPURA ROAD	HANUMANGARH	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
445	BETWEEN KM STONE 60 AND KM STONE 65 ON SH 61-B ON MATHANIA TO DECHU ROAD	JODHPUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
446	BETWEEN KM STONE NO. 71 AND KM STONE 76 ON SH 61-B ON MATHANIA TO DECHU ROAD	JODHPUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
447	ROAD)	HANUMANGARH	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
448	WITHIN 2 KM FROM KSHEMKARI CIRCLE ON BHINMAL-RANIWARA ROAD	JALORE	Regular	100	OBC CC 1	DC	30	30	900	32	55	Draw of Lots	15	4
449	BETWEEN KM STONE NO. 02 AND KM STONE 7 ON SH-63 (BANAR-BHOPALGARH ROAD)	JODHPUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
450	WITHIN 4 KM FROM GOVT PRIMARY HEALTH CARE CENTER PAREU TOWARDS PATODI ON SH6S	BARMER	Regular	150	OPEN PH	сс	35	35	1225	32	12	Bidding	30	5
451	WITHIN 2 KM EITHER SIDE OF CHOTA RANOOJA BABA RAMDEV JI DHAM SAMDARI ON SAMDARI KALYANPUR ROAD (SH-66)	BARMER	Regular	101	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
452	BETWEEN KM STONE 190 AND KM STONE 195 ON NH 11 (JAISALMER -BIKANER ROAD)	JAISALMER	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
453	FROM RAJASTHAN HOUSING BOARD SAMUDAYIK BHAVAN MUKTA PRASAD NAGAR TO INTERSECTION WITH GAINER ROAD VIA SAINT NN SCHOOL IN BIKANER CITY	BIKANER	Regular	170	OPEN	сс	20	20	400	32	12	Bidding	30	5
454	WITHIN 06 KM OF PHALSUND CHAURAHA TOWARDS BHANIYANA ON PHALUSND- BHANIYANA-POKHRAN ROAD	JAISALMER	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
455	BETWEEN COLLECTORATE BARMER TO INTERSECTION OF NH-68 WITH COLLECTORATE ROAD IN BARMER TOWN	BARMER	Regular	100	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
456	FROM CHIRAG HOTEL TO RAJASTHAN VIDYUT PRASARAN NIGAM GUEST HOUSE VIA MAA DURGA CIRCLE & MAHARSHI GAUTAM CIRCLE IN BIKANER CITY	BIKANER	Regular	180	OPEN	сс	20	20	400	32	12	Bidding	30	5
457	FROM BRINDAVAN ENCLAVE (COLONY'S JAIPUR ROAD GATE) TO PUGAL PHANTA VIA MUSEUM CIRCLE AND PANDIT DEEN DAYAL UPDHYAY CIRCLE IN BIKANER CITY	BIKANER	Regular	175	OPEN	сс	20	20	400	32	12	Bidding	30	5
458	FROM SHIV BARI CHAURAHA TO SOPHIA SCHOOL VIA CHALANA HOSPITAL IN BIKANER CITY	BIKANER	Regular	175	OPEN	сс	20	20	400	32	12	Bidding	30	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dim	nension (in M.)// (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6 SC	7		8	I	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC CC 1 SC CPH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
459	FROM GOVERNMENT SENIOR SECONDARY SCHOOL PHALODI TO RAIKIYA SHAHARI PRATHMIK SWASTHYA KENDRA KESHAV NAGAR ON MALAR ROAD	JODHPUR	Regular	160	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
460	BETWEEN KM STONE 382 AND KM STONE 386 ON ON SH-07(HANUMANGARH- SARDARSHAHAR ROAD)	HANUMANGARH	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
461	FROM SAINIK VISHRAM GRAH TO SBJS RAMPURIA JAIN COLLEGE VIA PANCHSATI CIRCLE IN BIKANER CITY	BIKANER	Regular	175	OPEN	сс	20	20	400	32	12	Bidding	30	5
462	WITHIN 2 KM ON EITHER SIDE OF MAHARANA PRATAP CIRCLE ON SH-31 (WITHIN MUNICIPAL LIMITS OF RANIWARA TOWN)	JALORE	Regular	150	OPEN CC 1	сс	35	35	1225	32	12	Bidding	30	5
463	BETWEEN KM STONE 31 AND KM STONE 35 ON SH-31 (JALORE TO BHINMAL ROAD)	JALORE	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
464	WITHIN 4 KM FROM KALYANPUR OVERBRDIGE TOWARDS SAMDARI ON SH-66	BARMER	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
465	ON RIGHT HAND SIDE WHILE MOVING FROM JAISALMER TO BIKANER BETWEEN KM STONE 386 AND KM STONE 389 ON NH-11	BIKANER	Regular	215	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
466	BETWEEN KM STONE 126 TO KM STONE 130 ON SH-16 SAYLA-BISHANGARH ROAD	JALORE	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
467	BETWEEN KM STONE 260 AND KM STONE 264 ON NH-911 (BAP TO PUGAL ROAD) WITHIN 6 KM FROM ADM PHANTA TOWARDS	BIKANER	Regular	150	OPEN	DC	35	35		32	95	Draw of Lots	15	5
468	KHAJUWALA ON NH 911A	BIKANER	Regular	172	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
469	BETWEEN KM STONE 121 AND KM STONE 124 ON SH 94 (SURATGARH TO ANUPGARH ROAD) WITHIN 4 KM FROM CITILITE HOSPITAL	SRI GANGANAGAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
470	BALOTRA TOWARDS PACHPADRA ON BALOTRA - PACHPADRA ROAD	BARMER	Regular	188	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
471	BETWEEN KM STONE 70 AND KM STONE 75 ON NH 62 (BIKANER-SRIGANGANAGAR ROAD) BETWEEN KM STONE 76 AND KM STONE 81	BIKANER	Regular	172	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
472	ON NH 911 (BAP TO PUGAL ROAD) WITHIN 5 KM FROM RAJKIYA UCHH	BIKANER	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
473	MADYAMIK VIDYALYA RORANWALI TOWARDS DHOLIPAL ON ABOHAR -HANUMANGARH ROAD	HANUMANGARH	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
474	BETWEEN KM STONE 3 AND KM STONE 8 ON NH-25E (BARMER - MUNNABAO ROAD)	BARMER	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
475	WITHIN 3 KMS ON EITHER SIDE OF PANCHAYAT SAMITI KOLAYAT ON SH-87 A WITHIN 4 KMS FROM RAILWAY CROSSING	BIKANER	Regular	160	OPEN	сс	35	35	1225	32	12	Bidding	30	5
476	TOWARDS KALU ON SH 6A (LUNKARSANSAR TO KALU ROAD)	BIKANER	Regular	114	OPEN	DC	35	35		32	75	Draw of Lots		5
477	NH-325 BETWEEN KM STONE 1 AND KM STONE 5 ON NH-325 BETWEEN KM STONE 178 AND KM STONE 182	BARMER	Regular	151	OBC	DC	35	35		32	95	Draw of Lots		4
478 479	ON SH-28 BETWEEN KM STONE 147 AND KM STONE 152 ON LEFT HAND SIDE WHILE MOVING EPOM	BARMER	Regular	150	OPEN	DC	35	35		32	95	Draw of Lots Draw of Lots	15	5
480	(MOONGRA CHOURAHA TO MEGA HIGHWAY	BARMER	Regular	188	OPEN	сс	30	30	900	32	12	Bidding	30	5
481	ROAD) WITHIN 05 KM FROM GOVERNMENT SENIOR SECONDARY SCHOOL SONU TOWARDS RAMGARH ON NH 68	JAISALMER	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
482	WITHIN 05 KM FROM SARAS DAIRY PLANT OF	JAISALMER	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
483	BETWEEN KM STONE 98 AND KM STONE 103 ON NH 25 (BARMER TO JODHPUR ROAD)	BARMER	Regular	255	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
484	BETWEEN KM STONE 6 AND KM STONE 10 ON SH-28 A (BALOTRA-BAGUNDI ROAD)	BARMER	Regular	160	OPEN	сс	35	35	1225	32	12	Bidding	30	5
485	WITHIN 2 KM ON EITHER SIDE OF RAMGARH POLICE STATION ON JAISALMER -TANOT ROAD	JAISALMER	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
486	BETWEEN KM STONE 14 AND KM STONE 18 ON SH-28 A (BALOTRA BAGUNDI ROAD)	BARMER	Regular	119	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
487	FROM INTERSECTION OF NH-11 & NH-125 TO KM STONE NO. 170 ON NH-125 (POKHRAN BYPASS)	JAISALMER	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
488	FROM APALA SCHOOL TO SWAHA BYPASS TIRAHA VIA BIHANI STADIUM IN NOHAR	HANUMANGARH	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
489	BETWEEN KM STONE 78 AND KM STONE 83 ON SH 94 (SURATGARH TO ANUPGARH ROAD)	SRI GANGANAGAR	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5

The control of the	SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)/. (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
## 15 Part P	1	2	3	4	5		7		8		9a	9b	10	11	12
- 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -							1								
Part							1								
Part							i								
March Marc						ST CC 1	1								
March Marc				Regular /	MS+HSD in							for			
March 1997 March 2007 Mar					KLs		CC / DC / CFS	Frontage	Depth	Area	requirement	development of	Draw of Lots / Bidding		
March Marc							t								
Memory M							1					ut no			
March Marc							1								
March Marc							-								
Part	400	BETWEEN KM STONE 21 AND KM STONE 26	0.4.04.45.0		150		DC.	25	25	4225	22	05	Danie of Late	45	-
Section Sect	490		BARIVIER	Kegular	150	OPEN	DC .	35	35	1225	32	95	Draw or Lots	15	2
Section Control of	491		JALORE	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
March 100 Columbra Estimates (MISTON) Security (MISTON) Secu	492	ON NH 25 (BARMER TO JODHPUR ROAD)	BARMER	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
Column C	402		RADMED	Rogular	200	ODEN	cc	25	25	1225	22	12	Ridding	30	5
AMASSES CALLS OF THE REVENT METOGOST MARKET Metodost Color Metodos	455		DANWEN	Regulai	200	OPEN		33	33	1223	32	12	bidding	30	ľ
Section Control Control Control Control Control Control Control Control Control Control Control Control Control Control Control		AT ADARSH CHULI ON THE NEWLY PROPOSED													
March Marc	494		BARMER	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
Seminana Antonia Montana (1988) Seminana Antonia Montana Seminana Antonia Montana (1988) Seminana An		VIA MAHABAR)													
Section Sect	495		JALORE	Regular	100	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
March Marc	406		BARMER	Bogular	150	ORC	DC.	25	25	1225	22	95	Draw of Lots	15	4
AMERICAN PROCESSION AND ADMINISTRATION Process Pro	450	ON NH 25 (BARMER TO JODHPUR ROAD)	DARWER	Regulai	150	ОВС	БС	33	33	1223	32	33	Draw or Lots	13	7
Page															
MANICHAN MARCHAN AVINARIA DON Marchan MARCHAN MARCHAN AVINARIA DON MARCHAN MARCHAN AVINARIA DON MARCHAN MARCHA	497		BARMER	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
PRINCE P		NATIONAL HIGHWAY (KUSHAL VATIKA TO JSW		_											
Month Mont															
Profess Collision Collision Collision Profess Collision Collis	400		DIKANED	Decile	172	ODENI CC 3	000	25	25	4225	22	05	Danie of Late	45	_
Second	498	FROM GURUDWARA SINGH SABHA IN	BIKANEK	Kegular	1/2	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
Section Sect															
SOCIO COMPANIANT SISTICATION FOR CHARMAN CONTINUES AND ASSISTANCE CHARMAN CONTINUES AND ASSISTA	499		SRI GANGANAGAR	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
OR SET 13 WITHIN 3 AM MAN MITHER SIDE OF RESITY BUS AMAMER Regular 160 OPEN CC 30 30 900 32 12 Bidding 30 5															
WITHING SAM ON ENTERING POR PARTICLES OF PARTICLES SAME SAME SAME SAME SAME SAME SAME SA	500		JODHPUR	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
DIAMANU ROAD DIAMANU ROAD		WITHIN 3 KM ON EITHER SIDE OF RSRTC BUS													
WITHOU SAM PROMA UPPERINDENCY OF MANAGE PROMISS SAM PAGE Program 100 P	501		BARMER	Regular	160	OPEN	cc	30	30	900	32	12	Bidding	30	5
MARROVEMENT TRUST LIMITS MARROW REPORT M	502		JAISALMER	Regular	190	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
Second Content Conte															
ON HAT 25 (BARMER S) (DIFFUR BOAD) ON HAT 25 (BARMER S) ON HAT 25 (BARMER S		BETWEEN KM STONE 116 AND KM STONE 120											_		
	503		BARMER	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
SOS WITHIN DISKS FROM 27TM CHOURANA DASALMER Regular 150 OPEN DC 35 35 32 225 32 95 Draw of Lots 15 5	504		BARMER	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
TOWARDS MOKALA on NH 988 JANSAMME Regular 130 OPEN D.C. 35 35 1225 32 95 Draw of Lots 15 5															
SOF SOFTO N WINES AND NH-11 (ANY ROAD AISAMER Regular 120 OR OR C 20 20 400 32 12 Bidding 30 5	505		JAISALMER	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
SOFEET OR WIDDER															
SOT SECURITION & AND FROM AHORE TRANAL, ON SHI-ALD PROBLEM TO A COLOR TO	506		JAISALMER	Regular	155	OPEN	cc	20	20	400	32	12	Bidding	30	5
Sel Part Color Col	507	WITHIN 4 KM FROM AHORE TIRAHA, ON SH-	JALORE	Regular	120	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
No. 125 No. 125 No. 125 No. No. 125 No.															5
Section Sect		NH 125							-						-
Store Towards PTM on Gondu - Sutharwala-Ramgan JASALMER Regular 100 OPEN DC 35 35 1225 32 75 Oraw of Lots 15 5 5	509	SH 16A	JALORE	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
Road	510		JAISALMER	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
S11 MANAPER CIRCLE (MTHIN MUNICIPAL LIMIT OF BHINMAL) JALORE Regular 100 OBC DC 30 30 900 32 55 Draw of Lots 15 4							ļ .	ļ .	-						
MAHAVEER CIRCLE (WITHIN MUNICIPAL LIMIT OF BHINMAL) MALORE Regular 100 OPEN CC 1 DC 35 35 1225 32 75 Draw of Lots 15 4					1			1	1						
LIMIT OF BHIMMAL	511		JALORE	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
S12 GOVERNMENT SENIOR SECONDARY SCHOOL VAATERA ON SH 16 B (BAGORA-GUIDAMMALANI ROAD) JALORE Regular 100 OPEN CC 1 DC 35 35 1225 32 75 Draw of Lots 15 5 5 5 5 5 5 5 5		LIMIT OF BHINMAL)													
VAATERA ON SH 16 B (BAGORA-GUDAMALANI ROAD) JULY STATES ST															
SETWEEN KM STONE 218 AND KM STONE 222 BARMER Regular 100 SC CFS 35 35 1225 0 0 Draw of Lots 0 3	512	VAATERA ON SH 16 B (BAGORA-	JALORE	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
S13 ON SH-28 (PHALODI-RAMI) KI KOL MEGA BARMER Regular 100 SC CFS 35 35 1225 0 0 Draw of Lots 0 3				-	-			-	-						
HIGHWAY FROM KSHEMKARI CIRCLE TO LMB CHORAHA JALORE Regular 100 OBC DC 30 30 900 32 55 Draw of Lots 15 4	513	ON SH-28 (PHALODI-RAMJI KI KOL MEGA	BARMER	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
S14 VIA BHIMMAL BYPASS ROAD (WITHIN MUNICIPAL LIMIT OF BHINMAL) JALORE Regular 100 OBC DC 30 30 900 32 55 Draw of Lots 15 4		•		-	-		-	-	-						
MUNICIPAL LIMIT OF BHINMAL) 515 BETWEEN KM STONE 102 AND KM STONE 104 ON SHEO-PHALSUND -SHEGRARH ROAD 516 BETWEEN KM STONE 112 AND KM STONE 123 DOHPUR Regular 100 OPEN DC 35 35 1225 32 75 Draw of Lots 15 5 517 GROM BIRBAL CHOWK TO SHIV CIRCLE ON GAUSHAL ROAD IN SRI GANGANAGAR Regular 160 OBC CC 30 30 900 32 12 Bidding 30 4 518 STOM SWANI VYERADAN GOVERNMENT MODEL STATEMENT OF THE STATEM	514		IAI ORF	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
S15 ON SHEO-PHALSUND - SHERGARH ROAD JUDHPUR Regular 100 OPEN DC 35 35 1225 32 95 Draw of Lots 15 5					1			1	1						
S15 ON SHEO-PHALSUND - SHERGARH ROAD JUDHPUR Regular 100 OPEN DC 35 35 1225 32 95 Draw of Lots 15 5	F4-	BETWEEN KM STONE 102 AND KM STONE 104	IODURUR		100	00511	000	25	25	1225	22	75	Description:	45	-
STOP	515		JODHPUR	Regular	100	OPEN	DC .	35	35	1225	32	/5	Draw of Lots	12	2
ST ST ST ST ST ST ST ST	516		BARMER	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
SALISALAR ROAD IN SRIGANGANAGAR SALISALARER Regular 150 OBC CC 30 30 900 32 12 BIDDING 30 4		EDOM BIRDAL CHOWN TO SHILL CIDCLE ON		-											
518 School Fatehgarh to Police Station Sangarh on JAISALMER Regular 150 ST CFS 35 35 1225 0 0 Draw of Lots 0 3 NH 68 519 Within 4 Km from Govt Sr. Sec School Bisukalla BARMER Regular 100 OPEN DC 35 35 1225 32 75 Draw of Lots 15 5 100 ST CFS 35 35 1225 32 75 Draw of Lots 15 5 100 ST CFS 35 35 1225 32 75 Draw of Lots 15 5 100 ST CFS 35 35 1225 32 75 Draw of Lots 15 5	517		SRI GANGANAGAR	Regular	160	ОВС	cc	30	30	900	32	12	Bidding	30	4
NH 68 519 Within 4 Km from Govt Sr. Sec School Bisukalla towards Sheo on SH65 800 BETWEEN KM STONE 68 AND KM Stone 70 on IAISAIMAER Regular 100 OPEN DC 35 35 1225 32 75 Draw of Lots 15 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5		From Swami Vivekanand Government Model													
S19 Within 4 Km from Govt Sr. Sec School Bisukalla BARMER Regular 100 OPEN DC 35 35 1225 32 75 Draw of Lots 15 5 towards Sheo on SH65 S10	518		JAISALMER	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
10wards Sheo on SH65	519	Within 4 Km from Govt Sr. Sec School Bisukalla	BARMER	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
															-
Nachalia to parewala noso	520	Nachana to Barewala Road	JAISALMER	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)// (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
521	BETWEEN KM STONE 211 TO KM STONE 216 ON NH-08(NEW NH-58), LEFT HAND SIDE WHILE MOVING FROM BEAWAR TO UDAIPUR	Rajsamand	Regular	305	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
522	BETWEEN KM STONE 141 TO KM STONE 145 ON NH-58(Old NH-08), LEFT HAND SIDE WHILE MOVING FROM BEAWAR TO UDAIPUR	Rajsamand	Regular	200	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
523	BETWEEN KM STONE 205 TO KM STONE 210 ON NH-08(NEW NH-58), LEFT HAND SIDE WHILE MOVING FROM BEAWAR TO UDAIPUR ON SHOBHAGPURA 100 FEET ROAD TILL	Rajsamand	Regular	305	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
524	INTERSECTION WITH LINIVERSITY	Udaipur	Regular	214	OPEN	сс	20	20	400	32	12	Bidding	30	5
525	ON NH 62 FROM JODHPUR TO PALI ON LEFT HAND SIDE	PALI	Regular	150	ОВС РН	DC	35	35	1225	32	95	Draw of Lots	15	4
526	BETWEEN KMSTONE 2 TO 6 ON NH 162 FROM PALI TO JADAN ON EITHER SIDE	PALI	Regular	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
527	FROM SURAJPOLE CHOURAHA TO PRATAP NAGAR CHAURAHA VIA THOKAR CHAURHA WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	202	OPEN	сс	20	20	400	32	12	Bidding	30	5
528	WITHIN 2 KMS OF BHARAT SANCHAR NIGAM LIMITED OFFICE (BSNL) SECTOR 3 ON ROAD OF WIDTH MORE THAN 80 FEET WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	220	OPEN	сс	20	20	400	32	12	Bidding	30	5
529	FROM KM STONE 226 TO KM STONE 230 ON NH-08 (NEW NH-58), LEFT HAND SIDE WHILE MOVING FROM BEAWAR TO UDAIPUR	Rajsamand	Regular	235	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
530	FROM JYOTIBA PHULE CIRCLE TO SWAGAT VATIKA ON CHANDRA SHEKHAR AZAD MARG WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	205	OPEN	сс	20	20	400	32	12	Bidding	30	5
531	WITN IN 3 KM FROM KHEDA CIRCLE ON 100 FT ROAD TOWARDS MAANBAGH GARDEN WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	204	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
532	FROM RELIANCE MALL TO MOUNT LITERA ZEE SCHOOL ON RIGHT HAND SIDE ON BHILWARA CHITTORGARH ROAD(WITHIN URBAN LIMITS OF BHILWARA)	Bhilwara	Regular	205	OPEN	сс	20	20	400	32	12	Bidding	30	5
533	MUNICIPAL LIMIT OF RAJSAMAND	Rajsamand	Regular	290	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
534	FROM JODHRAS CHOWRAHA TO BADALIKHERA CHOWRAHA WITHIN URBAN LIMITS OF BHILWARA	Bhilwara	Regular	220	OPEN	сс	20	20	400	32	12	Bidding	30	5
535	FROM BANK OF BARODA REGIONAL OFFICE TO JYOTIBA PHULE CIRCLE ON BHAGWAN PARSHURAM ROAD/CHANDRASHEKHAR AZAD MARG WITHIN URBAN LIMITS OF UDAIPUR CITY		Regular	210	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
536	FROM FUNCITY WATER PARK TO TATA YASH MOTORS ON 200 FEET RING ROAD WITHIN URBAN LIMITS OF BHILWARA	Bhilwara	Regular	205	OBC	сс	20	20	400	32	12	Bidding	30	4
537	FROM NH 79 INTERSECTION TO MANDI	Chittorgarh	Regular	220	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
538	FROM KM STONE 220 TO KM STONE 224 ON RIGHT HAND SIDE WHILE GOING FROM CHITTORGARH TO NEEMUCH ON NH-79	Chittorgarh	Regular	270	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
539	MOVING FROM BEAWAR TO UDAIPUR	Udaipur	Regular	155	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
540	FROM SWAMI VIVEKANAND CIRCLE TO MOHAN LAL SUKHADIYA UNIVERSITY GATE ON UNIVERSITY ROAD WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	220	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
541	BETWEEN ACHARYA MAHAPRAGYA CIRCLE TO MIRA CIRCLE WITHIN URBAN LIMITS OF BHILWARA	Bhilwara	Regular	210	OPEN	сс	20	20	400	32	12	Bidding	30	5
542	FROM PANSAL CHOWRAHA TO JODHRAS	Bhilwara	Regular	210	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
543	FROM RAJSAMAND TO BHILWARA	Rajsamand	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
544	FROM KM STONE 119 TO KM STONE 124 ON NH 113 (NEW NH 56) PRATAPGARH- BANSWARA ROAD	Banswara	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
545	BETWEEN KM STONE 190 TO KM STONE 195	Rajsamand	Regular	205	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)/. (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8	ı	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
546	ON 100 FT ROAD FROM SHOBHAGPURA CIRCLE TILL INTERSECTION OF SUKHER PRATAPNAGAR ROAD WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	220	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
547	URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	230	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
548	BETWEEN JYOTIBA PHULE CIRCLE & SEWASHRAM CHAURAHA VIA SWAGAT VATIKA WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	198	OBC CC 1	DC	20	20	400	32	75	Draw of Lots	15	4
549	WITHIN 5 KM FROM GOVT. SR. SEC. SCHOOL SONAI MANJI TOWARDS DESURI ON NH162 E BETWEEN HAMIRGARH RAILWAY PHATAK	PALI	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
550	AND HAMIDCARH ECO DARK VIA THE	Bhilwara	Regular	100	OPEN PH	DC	30	30	900	32	55	Draw of Lots	15	5
551	URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	230	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
552	WITHIN 2 KM OF LAL BOT CHOWRAHA (NOT ON SH-32) WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	225	OPEN	сс	30	30	900	32	12	Bidding	30	5
553	WHILE MOVING FROM BEAWAR TO UDAIPUR	Rajsamand	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
554	BETWEEN KM STONE NO 36 TO KM STONE 41 ON NH 162A (FATEHNAGAR-RAILMAGRA ROAD)	Rajsamand	Regular	205	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
555	FROM VEER TEJAJI CIRCLE TO KHUMBHA CIRCLE WITHIN URBAN LIMITS OF BHILWARA	Bhilwara	Regular	120	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
556	(SARDARGARH -DEOGARH ROAD)	Rajsamand	Regular	205	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
557	FROM KM STONE 209 TO KM STONE 212 ON ON NH-79 (NEW NH-56) LEFT HAND SIDE WHILE GOING FROM CHITTORGARH TO NEEMUCH	Chittorgarh	Regular	195	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
558	NH 148D	Bhilwara	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
559	FROM KM STONE 221 TO KM STONE 227 ON NH-48 LEFT HAND SIDE FROM CHITTORGARH TO UDAIPUR	Chittorgarh	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
560	FROM KM STONE 195 TO KM STONE 198 ON LEFT HAND SIDE WHILE GOING FROM CHITTORGARH TO NEEMUCH ON NH-79 (NEW NH-56)	Chittorgarh	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
561	FROM KM STONE 215 TO 219 ON RIGHT HAND SIDE WHILE GOING FROM CHITTORGARH TO NEEMUCH ON NH-79 (NEW NH-56)	Chittorgarh	Regular	260	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
562	BETWEEN KM STONE 48 TO KM STONE 52 ON SH-56 (DEOGARH-AMET ROAD)	Rajsamand	Regular	205	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
563	FROM KM STONE 282 TO KM STONE 287 ON NH-48, LEFT HAND SIDE FROM CHITTORGARH TO UDAIPUR BETWEEN JK CIRCLE AND NIMBAHERA-	Udaipur	Regular	155	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
564	MANGALWAD ROAD INTERSECTION (OLD BYE PASS) VIA DR. BHIMRAO AMBEDKAR GOVT COLLEGE WITH IN MUNICIPAL LIMIT OF NIMBAHERA CITY	Chittorgarh	Regular	150	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
565	WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	197	OPEN	сс	20	20	400	32	12	Bidding	30	5
566	WITNIN 4 KM FROM RAS BUS STAND TOWARDS BABRA ON NH158	PALI	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
567	ON SH-61 (DEOGARH-BHILWARA ROAD)	Rajsamand	Regular	205	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
568	BETWEEN AMBERI PULIYA TO DEBARI PULIYA ON NEW UDIPUR BYE PASS	Udaipur	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
569	BETWEEN KM STONE 160 KM STONE 165 NH 927 A FROM KM STONE 195 TO KM STONE 199 ON	DUNGARPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
570 571	NH-113 (NEW NH-56) BANSWARA-DAHOD ROAD BETWEN KM STONE 166 AND KM STONE 171	Banswara Bhilwara	Regular Regular	150	OBC ST	DC CFS	35 35	35	1225	32 0	95	Draw of Lots Draw of Lots	0	3
	ON NH 148D BETWEEN KM STONE 959 TO KM STONE 964 ON NH-27, LEFT HAND SIDE WHILE MOVING FROM KOTA TO CHITTORGARH	Chittorgarh	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
573	BETWEEN KAPASAN CROSSING AND HINDUSTAN ZINC PLANT MAIN GATE ON CHITTROGARH BHILWARA ROAD, WITHIN MUNICPAL LIMITS CHITTORGARH	Chittorgarh	Regular	190	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
574	BETWEEN OJIYANA CHOWARAHA TO GRAM PANCHAYAT OFFICE GARIYA KHERA ON SH 75	Bhilwara	Regular	155	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
575	FROM KM STONE 153 TO KM STONE 157 ON NH 113 (NEW NH 56) PRATAPGARH- BANSWARA ROAD	Banswara	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dim	nension (in M.)// (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
576	WITHIN 2 KMS FROM KAPASAN CROSSING ON CHITTORGARH KAPSAN ROAD TOWARDS HINDUSTAN ZINC NAGAR, WITHIN MUNICPAL LIMITS CHITTORGARH	Chittorgarh	Regular	180	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	BETWEEN KM STONE 18 AND KM STONE 23 ON NH 148D	Bhilwara	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
578	BETWEEN KM STONE 199 TO KM STONE 204 ON NH-08(NEW NH-58), RIGHT HAND SIDE WHILE MOVING FROM BEAWAR TO UDAIPUR	Rajsamand	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	FROM OM BANNA CIRCLE TO MIRA CIRCLE ON 200 FEET RING ROAD WITHIN URBAN LIMITS OF BHILWARA	Bhilwara	Regular	210	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
E90	DETAUTED VALCEOUR 422 TO VALCEOUR 420	DUNGARPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
581	FROM KM STONE 86 TO KM STONE 92 ON NH158	Bhilwara	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
582	CHITRAGUPT CIRCLE TO MIRA CIRCLE ON 200 FEET RING ROAD WITHIN URBAN LIMITS OF BHILWARA	Bhilwara	Regular	210	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
583	BETWEEN KM STONE 208 TO KM STONE 216 ON NH-08(NEW NH-58), RIGHT HAND SIDE WHILE MOVING FROM BEAWAR TO UDAIPUR	Rajsamand	Regular	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
584	BETWEEN PIPLI CHOWK TO MENARIA GUEST HOUSE VIA HOTEL VALLABH VILAS ON TEKRI MADRI LINK ROAD WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	160	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
	FROM KM STONE 353 TO KM STONE 359 ON NH-48 ON RIGHT HAND SIDE WHILE GOING FROM GULABPURA TO BHILWARA	Bhilwara	Regular	180	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
586	BETWEEN INTERSECTION OF NH-58 AND 200 FT ROAD (NEAR RTO OFFICE) AND PARIM RESORT (VIA NEERJA MODI SCHOOL) WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	284	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
587	WITHIN 3 KM FROM NEEMUCH NAKA ON PRATAGARH NEEMUCH ROAD WIHIN MUNICIPAL LIMITS OF PRATAPGARH	Pratapgarh	Regular	140	OPEN CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
588	FROM GULABPURA TO BHILWARA	Bhilwara	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
590	UDAIPUR CITY	Udaipur	Regular	199	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	BETWEEN SEVASHRAM CHOURAHA AND JHAMARKOTA ROAD INTERSECTION ON HIRAN MAGRI MAIN ROAD WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	220	OPEN	сс	20	20	400	32	12	Bidding	30	5
591	BETWEEN CUSTOM CHOURAHA AND KUPDA FLY-OVER ON NH-927 A (BANSWARA DUNGARPUR ROAD)	Banswara	Regular	160	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
	BETWEEN PRATAP NAGAR CHOURAHA AND EKLINGPURA CHOURAHA VIA GEETANJALI HOSPITAL WITHIN URBAN LIMITS OF UDAIPUR	Udaipur	Regular	150	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
	TRAVELLING FROM BHILWARA TO LADPURA	Bhilwara	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	FROM KM STONE 189 TO KM STONE 193 ON NH-113 (NEW NH 56) BANSWARA-DAHOD ROAD	Banswara	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
595	Between Thokar Chouraha and Ahar Museum main Gate within urban limit of Udaipur	Udaipur	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
596	BETWEEN KM STONE 127 TO KM STONE 132 ON NH 162E (KELWARA - CHARBHUJA ROAD)	Rajsamand	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
	FROM KM STONE 77 TO KM STONE 82 ON NH158	Bhilwara	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
598	SH 15 (MANGALWAR TO BARI SADRI ROAD)	Chittorgarh	Regular	110	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
599	ROAD (SH-15)	Pratapgarh	Regular	115	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5
	BWTWEEN KM STONE 12 TO KM STONE 18 ON NH 113 (NEW NH-56)	Chittorgarh	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
601	FROM CONVOY HEIGHTS (SHOBHAGPURA) TO OPERA GARDEN AT INTERSECTION OF SHOBHAGPURA BYPASS ROAD WITH SUKHER PRATAPNAGAR ROAD VIA THE OCCASION GARDEN WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	155	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
602	FROM KM STONE 91 TO KM STONE 95 ON NEW NH-56 (PRATAPGARH TO BANSWARA)	Pratapgarh	Regular	200	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE 18 TO 23 ON SH-56 (DEOGARH-AMET ROAD)	Udaipur	Regular	150	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dim	nension (in M.)// (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
					OPEN CC 2 OPEN PH									
604	BETWEEN DEBARI PULIYA AND UDAIPUR- BANSWARA ROAD INTERSECTION ON NEW UDAIPUR BYE PASS ON RIGHT HAND SIDE WHILE MOVING FROM DEBARI TO DAKAN KOTRA	Udaipur	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
605	ON RIGHT HAND SIDE WHILE MOVING TOWARDS KAYA	Udaipur	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
606	WITHIN MUNICIPAL LIMITS OF CHITTORGARH CITY ON CHITTORGARH TO GHATIYAWALI ROAD	Chittorgarh	Regular	180	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
607	WITHIN 3KM FROM RAJKEEYA UCCH MADHYAMIK VIDYALAYA, BAMAN PADA ON SH-10 A (GHATOL-GANODA ROAD)	Banswara	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
608	BETWEEN PANSAL CHOWRAHA AND RTO CIRCLE WITHIN URBAN LIMITS OF BHILWARA	Bhilwara	Regular	220	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
609	FROM PANNA DHAY CIRCLE TO DEVNARAYAN CIRCLE VIA KOTHARI PUBLIC SCHOOL WITHIN URBAN LIMITS OF BHILWARA	Bhilwara	Regular	210	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
610		Bhilwara	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
611	TO JAHAZPUR FROM KM STONE 15 TO KM STONE 21 ON SH	Bhilwara	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
612	BETWEEN NARAYANI MATA CIRCLE AND ERAS CHOWRAHA WITHIN URBAN LIMITS OF	Bhilwara	Regular	210	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
613	BHILWARA BETWEEN COLLECTERATE CIRCLE AND KAPASAN CHOURAHA VIA ROYAL ENFIELD SHOWROOM (WITHIN MUNICIPAL LIMITS CHITTORGARH)	Chittorgarh	Regular	180	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
614		Bhilwara	Regular	155	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
615	WITHIN 3 KMS FROM BHABHANA GRAM PANCHAYAT OFFICE MAIN GATE ON SH-133	Bhilwara	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
616	BETWEEN YASH MOTORS (TATA SHOWROOM) AND NARAYANI MATA CIRCLE, WITHIN URBAN LIMITS OF BHILWARA	Bhilwara	Regular	210	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
617	FROM ERAS CHOWARAHA TO SUWANA PANCHAYAT SAMITI OFFICE ON BHILWARA- MANDALGARH ROAD, WITHIN URBAN LIMITS OF BHILWARA	Bhilwara	Regular	205	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
618	FROM KM STONE 976 TO KM STOME 980 ON NH-27 (OLD NH 76) LEFT HAND SIDE WHILE TRAVELLING FROM CHITTORGARH TO KOTA	Bhilwara	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
619	FROM KM STONE 195 TO KM STONE 198 ON NH-79 (NEW NH-56) RIGHT HAND SIDE WHILE GOING FROM CHITTORGARH TO NEEMUCH	Chittorgarh	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
620	BETWEEN KM STONE 160 KM STONE 165 NH 927 A	DUNGARPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
621	FROM ERAS CHOWARAHA TO SD. TEJ SINGH CIRCLE WITHIN URBAN LIMITS OF BHILWARA	Bhilwara	Regular	200	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
622	BETWEEN TVS CHOURAHA AND JK CIRCLE IN MUNCIPAL LIMIT OF RAJSAMAND	Rajsamand	Regular	150	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
623	BETWEEN KM STONE 20 TO KM STONE 24 ON NH-162E	Udaipur	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
624	WITHIN 3KM FROM BUS STAND (EXIT SIDE) ANANDPURI ON SH-10A TOWARDS ARTHUNA ON GARHI-ANANDPURI ROOAD	Banswara	Regular	115	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
625	FROM KM STONE 989 TO KM STONE 995 ON NH-27(OLD NH 76) ON LEFT HAND SIDE WHILE TRAVELLING FROM CHITTORGARH TO KOTA	Bhilwara	Regular	155	ОВС РН	DC	35	35	1225	32	95	Draw of Lots	15	4
626	CHAUKAHA ON SH54, DUNGARPUR CITY	DUNGARPUR	Regular	155	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
627 628	BETWEEN KM STONE 142 TO KM STONE 148 ON NH-927 A FROM KM STONE 203 TO KM STONE 207 ON NH-113 (NEW NH-56) ON BANSWARA DAHOD	DUNGARPUR	Regular Regular	150	OPEN OBC	DC DC	35 35	35	1225	32	95 95	Draw of Lots Draw of Lots	15	5
629	ROAD FROM KM STONE 125 TO KM STONE 130 ON NH 148D WHILE TRAVELLING FROM	Bhilwara	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
630	GULABPURA TO JAHAZPUR FROM KM STONE 670 TO 676 ON NH 27	SIROHI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
631	BETWEEN KM STONE 139 TO KM STONE 149 ON NH-927 A	DUNGARPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
632	SHAHPURA ON SH-12	Bhilwara	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
633	BETWEEN KM STONE 57 TO KM STONE 64 ON SH-54	DUNGARPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)/. (in Sq. M.). *	Area of the site		erranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8	ı	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 ODEC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
634	FROM DEBARI PULIYA TO INTERSECTION OF UDAIPUR BANSWARA ROAD (SH-32) ON NEW UDAIPUR BYE PASS LEFT HAND SIDE WHILE MOVING FROM DEBARI TO DAKAN KOTRA	Udaipur	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN UDAIPUR BANSWARA ROAD INTERSECTION TO TRUMPET INTERCHANGE AT KAYA ON NEW UDAIPUR BYE PASS ROAD ON LEFT HAND SIDE WHILE MOVING TOWARDS KAYA	Udaipur	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
636	BETWEEN AAKASHWANI KENDRA THIKARIYA AND KRISHI VIGYAN KENDRA BORWAT FARM ON DAHOD ROAD WITHIN MUNICIPAL LIMITS BANSWARA	Banswara	Regular	165	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
637	BETWEEN KM STONE 185 AND KM STONE 190 ON SH 12 (SHAHPURA TO BHILWARA ROAD)	Bhilwara	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
638	BETWEEN SURAIPOLE AND RTO OFFICE ON JODHPUR ROAD WITHIN MUNICIPAL LIMIT OF PALI FROM KM STONE 191 TO KM STONE 194 ON	PALI	Regular	200	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
639	NH-70 (NEW NH-56) ON DIGHT HAND SIDE	Chittorgarh	Regular	260	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
640	SADRI TOWARDS CHOTT SADRI ON SH 15	Chittorgarh	Regular	110	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
641	WITHIN MUNICIPAL LIMITS OF GARHI- PARTAPUR ON NH 927A DUNGARPUR- BANSWARA ROAD	Banswara	Regular	170	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
642	WITHIN 1 KM FROM CHORDI CHOURAHA ON SH-10 BAGIDORA-ANANDPURI ROAD FROM KM STONE 238 TO KM STONE 240 ON	Banswara	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
643	SH-32 UDAIPUR-BANSWARA ROAD	Banswara	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
644	BETWEEN JAI NARAYAN VYAS CIRCLE AND BANGUR COLLEGE MAIN GATE WITHIN MUNICIPAL LIMIT OF PALI	PALI	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
645	ON NATIONAL HIGHWAY 148 D AND 158)	Bhilwara	Regular	160	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
	FROM KM STONE 72 TO KM STONE 75 ON NH 158	Bhilwara	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	NEEMUCH	Chittorgarh	Regular	260	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
648	FROM KM STONE 203 TO KM STONE 206 ON NH-79 (NEW NH-56) ON RIGHT HAND SIDE WHILE GOING FROM CHITTORGARH TO NEEMUCH	Chittorgarh	Regular	260	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
	FROM KM STONE 983 TO KM STONE 987 ON NH-27(OLD NH 76) ON LEFT HAND SIDE WHILE TRAVELLING FROM CHITTORGARH TO KOTA	Bhilwara	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
650	FROM KM STONE 203 TO KM STONE 206 ON NH-79 (NEW NH-56) ON LEFT HAND SIDE WHILE GOING FROM CHITTORGARH TO NEEMUCH	Chittorgarh	Regular	240	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
651	URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	155	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
652	WITHIN 6KMs FROM SAGROD CHOURAHA TOWARDS CHINCH ON SH-10 (BANSWARA- BAGIDORA ROAD)	Banswara	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
653	TOWARDS KOTRI ON SHAHPURA-KOTRI ROAD	Bhilwara	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
654	WITHIN 2 KM FROM SWAMI VIVEKANAND RAJKEEYA MODEL SCHOOL MAIN GATE - TAMBESARA ON SH-54 A (KALINJARA- KUSHALGARH ROAD)	Banswara	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
	CHOWK RAISAMAND	Rajsamand	Regular	150	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
656	BHUWANA CHUUAKAHA UN NH-58	Udaipur	Regular	170	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
657	BETWEEN KM STONE 116 TO KM STONE 124 ON NH927A	DUNGARPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	FROM KM STONE 166 TO KM STONE171 ON NH 52(OLD NH 12) ON LEFT HAND SIDE WHILE TRAVELLING FROM JAIPUR TO KOTA	Bhilwara	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	FROM COLLECTOR RESIDENCE TO VISION COLLEGE BOJUNDA VIA BIRLA HOSTIPAL, WITHIN MUNICPAL LIMITS CHITTORGARH	Chittorgarh	Regular	230	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
660	FROM KM STONE 42 TO KM STONE 47 ON SH- 10 (CHORDI-ANANDPURI ROAD)	Banswara	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Within 2 Kms of Jhamarkotra Police Chowki	Udaipur	Regular	135	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	FROM KM STONE 209 TO KM STONE 212 ON	Chittorgarh	Regular	155	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)/. (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
					SC CC 1 SC PH ST ST CC 1					Estimated	Estimated			
			Regular / Rural	MS+HSD in KLs	ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1	CC / DC / CFS	Frontage	Depth	Area	working capital requirement for operation of RO	fund required for development of infrastructure at RO	Draw of Lots / Bidding		
	BETWEEN KM STONE 323 TOKM STONE 326				OPEN CC 2 OPEN PH									
663	ON NH 25 FROM BAR TO BEAWAR	PALI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
664	FROM KM STONE 179 TO KM STONE 181 ON SH 12 SHAHPURA TO BHILWARA ROAD	Bhilwara	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
665	WITHIN 3 KM FROM AMBEDKAR CROSSING ON PRATAPGARH UDAIPUR ROAD WITHIN MUNICIPAL LIMITS OF PRATAPGARH	Pratapgarh	Regular	135	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
666	WITHIN 5 KM FROM AMBUJA CEMENT MAIN ENTRANCE GATE TOWARDS RAS ON NH 158 WITHIN 5 KM FROM MOUNT ABU ENTRANCE	PALI	Regular	155	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
667	GATE/TOLL WITHIN MUNICIPAL LIMIT MOUNT ABU BETWEEN KM STONE 135 TO KM STONE 140	SIROHI	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
668	ON NH 758	Bhilwara	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
669	FROM KM STONE 112 TO KM STONE 115 ON SH-54A ON KALINJARA-KUSHALGARH ROAD WITHIN 5 KM FROM SHRI CEMENT MAIN	Banswara	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
670	ENTRANCE GATE ON NH 158 BETWEEN KM STONE 72 TO KM STONE 82 ON	PALI	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
671	SH-54 BETWEEN LEO COLLEGE AND MAHARANA	DUNGARPUR Banswara	Regular	100	OPEN	DC DC	35	35	900	32	75 55	Draw of Lots Draw of Lots	15	5
672	PRATAP CIRCLE BANSWARA ON SH-32 BETWEEN KM STONE 02 TO KM STONE 04 ON SH16	PALI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
674	BETWEEN KM STONE 569 TO KM STONE 574	PALI	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
675	BETWEEN NARAYANI MATA CIRCLE AND SINDRI KE BALAJI WITHIN URBAN LIMITS OF BHILWARA	Bhilwara	Regular	160	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
676	FROM KM STONE 215 TO KM STONE 219 ON NH-79 (NEW NH-56) ON LEFT HAND SIDE WHILE GOING FROM CHITTORGARH TO NEEMUCH	Chittorgarh	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
677	FROM KM STONE 142 TO KM STONE 148 ON NH 325 (BALOTRA - JALORE - SANDERAO ROAD)	PALI	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
678	FROM KM STONE 243 TO KM STONE 249 ON SH-32 UDAIPUR-BANSWARA ROAD	Banswara	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
679	BETWEEN KM STONE 50 TO KM STONE 56 ON SH-54	DUNGARPUR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
680	FROM KM STONE 14 TO KM STONE 18 ON NH- 162A ON LEFT HAND SIDE WHILE GOING FROM SANWAR CHORAHA TO DARIBA	Udaipur	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
681	FROM KM STONE 135 TO KM STONE 140 ON NH 148D WHILE TRAVELLING FROM GULABPURA TO JAHAZPUR	Bhilwara	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
682	WITHIN 3KMs FROM RAO INDRAJEET SINGH STATUE (GARHI BUS STAND) TOWARDS ARTHUNA ON SH-10A WITNIN 03 KM OF NEW BUS STAND MAIN	Banswara	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
683	GATE TOWARDS DAULATPUR, WITHIN MUNICPAL LIMIT OF BEGUN	Chittorgarh	Regular	105	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
684	KM STONE 92 TO KM STONE 95 ON SH-9 (CHITTORGARH TO KAPASN ROAD) FROM KM STONE 909 TO KM STONE 917 ON	Chittorgarh	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
685	NH-27, LEFT HAND SIDE FROM CHITTORGARH TO KOTA	Chittorgarh	Regular	170	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
686	BETWEEN KM STONE 26 TO KM STONE 32 ON SH 15 (MANGALWAR TO BARI SADRI ROAD)	Chittorgarh	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
687	BETWEEN KM STONE 5 AND KM STONE 11 ON SH-75	Bhilwara	Regular	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
688	FROM KM STONE 45 TO KM STONE 53 ON NH158	Bhilwara	Regular	155	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
689	FROM KM STONE 60 TO KM STONE 66 ON	Bhilwara	Regular	155	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
690	PARSHURAM CIRCLE (PANIHARI CHORAHA) VIA PALI NEW BUS STAND WITHIN MUNICIPAL LIMIT OF PALI CITY	PALI	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
691	LIMITS OF BHILWARA	Bhilwara	Regular	155	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
692	BHILWARA	Bhilwara	Regular	155	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
693	WITHIN 3 KM OF ULTRATECH CEMENT FACTORY MAIN GATE ON SH 62 WITHIN 2 KM OF FOOD CORPORATION OF	SIROHI	Regular	100	OPEN	DC DC	35 30	35	1225 900	32	75 55	Draw of Lots	15 15	5
694	INDIA PINDWARA TOAWRDS KOTAL GULABPURA WITHIN MUNICIPAL LIMITS (NOT	SIROHI	Regular	130	OPEN							Draw of Lots		
695	ON NH-48) FROM KM STONE 79 TO KM STONE 88 ON NH	Bhilwara Bhilwara	Regular Regular	160	OBC SC	DC CFS	30	30	900 1225	32	95	Draw of Lots Draw of Lots	15	4
	BHILWARA FROM KM STONE 14 TO KM STONE 20 ON SH-	Banswara		120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
697	10 BAGIDORA-CHORDI ROAD FROM KM STONE 37 TO KM STONE 42 ON NH 758	Bhilwara	Regular Regular	155	OPEN CC 2		35	35	1225	32	95	Draw of Lots Draw of Lots	15	5
699	FROM KM STONE 43 TO KM STONE 48 ON NH	Bhilwara	Regular	155	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
700	758 FROM KM STONE 33 TO KM STONE 38 ON NH 148D	Bhilwara	Regular	155	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)/. (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OPEN OPEN OPEN CC 2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
	WITHIN 4 KM FROM BIJOLIYA WATER TREATEMENT PLANT(WTP) GATE TOWARDS SOONTHI TOLL PLAZA ON SH 29	Bhilwara	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
702	FROM KM STONE 152 TO KM STONE 154 ON SH 29 ON BIJOLIA- BUNDI HIGHWAY	Bhilwara	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
703	FROM KM STONE 45 TO KM STONE 53 ON NH 148D	Bhilwara	Regular	165	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
704	EDOM VM CTONE EC TO VM CTONE CC ON NIL	Bhilwara	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE 22 TO KM STONE 25 ON SH 12 (PRATAPGARH DHARIYAWAD ROAD)	Pratapgarh	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
706	RETWEEN KM STONE 16 TO KM STONE 20 ON	BHILWARA	Regular	154	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
707	BETWEEN KM STONE 605 TO KM STONE 610	PALI	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
	WITHIN 3 KMS FROM TECHNO INDIA NJR INSTITUTE OF TECHNOLOGY ON 200 FT ROAD WITHIN URBAN LIMITS OF UDAIPUR CITY	Udaipur	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	BETWEEN KMSTONE 630 TO KM STONE 635 ON NH 62 ON LEFT HAND SIDE FROM PALI TO SIROHI	PALI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
710	FROM SHRI SHIV CHARAN MATHUR GOVERNMENT COLLEGE MANDALGARH GATE TO COMMUNITY HEALTH CENTER GATE VIA AHINSA CIRCLE	Bhilwara	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
711	WITIN MUNICPAL LIMIT OF RANI FROM KM STONE 209 TO KM STONE 212 ON	PALI	Regular	150	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
712	NH-79 (NEW NH-56) ON RIGHT HAND SIDE WHILE GOING FROM CHITTORGARH TO NEEMUCH	Chittorgarh	Regular	155	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
713	WITHIN MUNICIPAL LIMITS OF KUSHALGARH	Banswara	Regular	111	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
714	WITHIN 3 KM FROM SANWAD CHAURAHA TOWARDS MAWLI ON NH-162 A	Udaipur	Regular	155	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
715	WITHIN 02 KMS FROM 108 SHRI KAREDA PARSHWANATH JAIN TIRTH BHUPAL SAGAR TOWARDS USROL	Chittorgarh	Regular	105	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
716	FROM SOPHIA SENIOR SECONDARY SCHOOL RANGTALAB TO BORKHEDA FLYOVER (KOTA - BARAN ROAD) ON BORKHEDA BYPASS CANAL ROAD IN KOTA CITY	кота	Regular	200	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
717	TOWARDS JHALARAPATAN VIA KHANDIYA CHAURAHA	JHALAWAR	Regular	150	ОВС	DC	30	30	900	32	55	DRAW OF LOTS	15	4
718	FROM KM STONE 1023 TO KM STONE 1030 ON NH 27 RIGHT HAND SIDE WHILE MOVING TOWARDS KOTA	BUNDI	Regular	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
719	WITHIN MUNICIPAL LIMITS OF BEAWAR TOWN ON ROAD OF WIDTH 50 FEET OR MORE (NOT ON NH 48 & NH 25)	AJMER	Regular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
720	WITHIN 2 KMS FROM VALLABH CHOWK IN NAGAUR CITY TOWARDS DIDWANA ON SH-19	NAGAUR	Regular	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
721	UPTO 2 KM FROM RAJKIYA UCHH PRATHMIK VIDYALAY UTTARI KHARIYA TOWARDS SURERA ON SH 19	NAGAUR	Regular	100	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
722	BETWEEN KM STONE 96 AND KM STONE 98 ON SH-90	NAGAUR	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
723	UPTO 2 KM FROM NARADHANA PHATA TOWARDS AMBUJA CEMENT PLANT ON GOTH- MUNDAWA-ASOP ROAD (MDR 241) MUNDAWA TOWN	NAGAUR	Regular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
724	WITHIN 2 KM OF RAJKIYA BALIKA UCHH PRATHMIK VIDYALAYA CHORPURA TOWARDS NEWAI ON NEWAI-DANGARTHAL ROAD IN NIWAI TOWN	TONK	Regular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
725	ON ROAD OF WIDTH 50 FEET OR MORE	NAGAUR	Regular	100	ОВС РН	DC	30	30	900	32	55	DRAW OF LOTS	15	4
726	WITHIN 3 KM ON EITHER SIDE OF MAIN GATE OF GOVERNMENT COLLEGE RICCHWA ON SH- 89	JHALAWAR	Regular	100	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
727	WITHIN MUNICIPAL LIMITS OF INDRAGARH TOWN ON ROAD OF WIDTH 40 FEET OR MORE	BUNDI	Regular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
728	WITHIN 2 KM OF MAIN GATE OF MAHAVEER MISSION HOSPITAL TOWARDS PARSHAVANATH PLEASANT APARTMENTS ON CANAL ROAD IN KOTA CITY	кота	Regular	250	OPEN	сс	20	20	400	32	12	BIDDING	30	5
729	FROM AGRICULTURE UNIVERSITY KOTA MAIN GATE TO MAHATMA GANDHI GOVERNMENT SCHOOL BORKHANDI ON BARAN ROAD IN KOTA CITY	кота	Regular	200	ОВС	DC	20	20	400	32	75	DRAW OF LOTS	15	4
730	VIA ST FRANCIS SCHOOL IN AJMER CITY	AJMER	Regular	220	OPEN	сс	30	30	900	32	12	BIDDING	30	5
731	WITHIN 3 KM FROM MAIN GATE OF TEHSILDAR OFFICE OF ARAIN ON SH 7E TOWARDS SARWAR	AJMER	Regular	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)/. (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8	I	9a	9b	10	11	12
					SC CC 1 SC PH ST ST CC 1 ST PH					Estimated working	Estimated fund required			
			Regular / Rural	MS+HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	capital requirement for operation of RO	for development of infrastructure at RO	Draw of Lots / Bidding		
732	FROM MAIN GATE OF GOVERNMENT SENIOR SECONDARY SCHOOL AJAY NAGAR (RAMGANJ) TO MAIN GATE OF SANT KANWAR RAM SCHOOL ON AJAY NAGAR ROAD IN AJMER CITY	AJMER	Regular	220	OPEN	сс	20	20	400	32	12	BIDDING	30	5
	WITHIN 1 KM OF MAIN GATE OF GOVT POLYTECHNIC COLLEGE JHALAWAR (NOT ON NH 52 AND SH 01) FROM MARTIDALE BRIDGE UPTO	JHALAWAR	Regular	104	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
734	INTERSECTION WITH OLD NH8 (NEW NH 58) ON OLD AJMER- BEAWAR ROAD IN AJMER CITY	AJMER	Regular	205	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
735	FROM KM STONE 13 TO KM STONE 21 ON SH- 128	КОТА	Regular	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
736	WITHIN MUNICIPAL LIMITS OF CHHABRA TOWN ON ANY ROAD OF WIDTH 50 FEET OR MORE	BARAN	Regular	100	ОВС	DC	30	30	900	32	55	DRAW OF LOTS	15	4
737	FROM CENTRAL BUS STAND AJMER TO HIGH SECURITY JAIL ON JAIPUR ROAD VIA RAJASTHAN PUBLIC SERVICE COMMISSION AJMER	AJMER	Regular	250	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
738	FROM KM STONE 72 TO KM STONE 75 ON SH 87	NAGAUR	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
739	WITHIN 2 KM OF GUDLA CHOURAHA ON EITHER SIDE ON BIKANER-DIDWANA BYPASS ROAD CONNECTING NH-62 AND NH-58 IN NAGAUR CITY	NAGAUR	Regular	150	ОВС	DC	30	30	900	32	55	DRAW OF LOTS	15	4
740	WITHIN 2 KM FROM GHANTA GHAR TOWARDS KAMDHENU CIRCLE ON 80 FT ROAD IN TONK CITY	TONK	Regular	118	sc	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
741	FROM JW CRUISE HOTEL TO LAWRENCE & MAYO PUBLIC SCHOOL ON MAKARWALI ROAD IN AJMER CITY	AJMER	Regular	300	OPEN	сс	20	20	400	32	12	BIDDING	30	5
742	TELEPHONE EXCHANGE IN AJMER CITY	AJMER	Regular	300	OPEN	сс	30	30	900	32	12	BIDDING	30	5
	(NOT ON SH 12 AND SH 26)	AJMER	Regular	180	ОВС	DC	30	30	900	32	55	DRAW OF LOTS	15	4
744	WITHIN 4 KM FROM MAIN GATE OF RAJKIYA PRATHMIK VIDYALAY NAHRI KHURD WITH JHARKHUND ON SH 122 TOWARDS SHIWAD BETWEEN MAIN ENTRANCE GATE OF	SAWAI MADHOPUR	Regular	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
745	BHAGWANT UNIVERSITY TO JANANA HOSPITAL VIA DWPS CHOURAHA IN AJMER CITY	AJMER	Regular	250	OPEN	сс	30	30	900	32	12	BIDDING	30	5
746	FROM AJMER HIGH SECURITY JAIL TO INTERSECTION WITH OLD NH8 VIA PARADIZZO RESORT PANCHSHEEL NAGAR IN AJMER CITY ON	AJMER	Regular	250	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
747	ROAD OF WIDTH 80 FEET OR MORE	AJMER	Regular	300	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
	BETWEEN KM STONE 42 AND KM STONE 52 ON NH-8 (NEW NH 58)RIGHT HAND SIDE WHILE MOVING FROM AJMER TO BEAWAR	AJMER	Regular	200	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
749	FROM KM STONE 1093 TO KM STONE 1097 ON NH-27 RIGHT HAND SIDE WHILE TRAVELLING FROM KOTA TO BARAN	кота	Regular	150	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
750	BETWEEN KM STONE 328 AND KM STONE 337 ON NH48 (OLD NH79) ON LEFT HAND SIDE WHILE TRAVELLING FROM AJMER TOWARDS BHILWARA	AJMER	Regular	200	OPEN PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
751	BETWEEN KM STONE 279 AND KM STONE 284 ON NH 48 (OLD NH 79A) LEFT HAND SIDE WHILE TRAVELLING FROM KISHANGARH TO NASIRABAD	AJMER	Regular	150	ОВС	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
752	FROM MODI INSTITUTE OF TECHNOLOGY TO CHHATRAPATI SHIVAJI SCHOOL SHIVPURA VIA RAJASTHAN TECHNICAL UNIVERSITY ON MAIN ROAD IN KOTA CITY	кота	Regular	300	OPEN	сс	30	30	900	32	12	BIDDING	30	5
753	FROM KM STONE 175 TO KM STONE 180 ON NH148D	BUNDI	Regular	210	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
754	WITHIN 5 KM FROM DCM CIRCLE ON ANY ROAD OF WIDTH 80 FEET OR MORE IN KOTA CITY	кота	Regular	250	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
755	WITHIN 3 KM ON EITHER SIDE OF INTERSECTION OF NEW PUSHKAR BY PASS AND BUDHA PUSKAR ROAD ON NEW PUSHKAR BYPASS	AJMER	Regular	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
756	CAD CIRCLE TO GANESH SHANKAR VIDYARTHI CHOURAHA ON MAIN ROAD IN KOTA CITY	КОТА	Regular	300	OPEN	сс	20	20	400	32	12	BIDDING	30	5
757	WIDTH 80 FEET OR MORE	кота	Regular	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
758	WITHIN 3 KM OF DHARNEEDHAR CHOURAHA TOWARDS DEVNARAYAN GAUSHALA YOJNA ON KOTA- DHARAMPURA ROAD	кота	Regular	150	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
759	FROM KM STONE 8 TO KM STONE 15 ON NH- 08 (NEW NH-58) LEFT HAND SIDE WHILE MOVING FROM AJMER TO BEAWAR	AJMER	Regular	170	ОВС	DC	35	35	1225	32	95	DRAW OF LOTS	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	(in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6 SC	7		8		9a	9b	10	11	12
					SC CC 1									
					SC PH									
					ST						Estimated			
					ST CC 1 ST PH					Estimated working	fund required			
			Regular / Rural	MS+HSD in KLs	OBC	CC / DC / CFS	Frontage	Depth	Area	capital requirement	for development	Draw of Lots / Bidding		
			Kurai	KL3	OBC CC 1					for operation	of infrastructure			
					OBC PH					of RO	at RO			
					OPEN CC 1	1								
					OPEN CC 2									
					OPEN PH									
	WITHIN THE MUNICIPAL LIMITS OF BIJAYNAGAR TOWN ON ROAD OF WIDTH 50	AJMER	Regular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	FT OR MORE (NOT ON NH 48 AND SH 39)													
761	FROM KM STONE 1 TO KM STONE 5 ON SH-26 (NASIRABAD- KEKRI ROAD)	AJMER	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
	WITHIN 6 KM OF INTERSECTION WITH NH-													
762	752(OLD NH-90) AND MDR-04 TOWARDS	BARAN	Regular	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	KAWAI ON NH-752(OLD NH-90)													
763	BETWEEN KM STONE 279 AND KM STONE 286 ON NH 48 (OLD NH 79A) RIGHT HAND SIDE	AJMER	Regular	150	ОВС	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
	TOWARDS NASIRABAD													
764	WITHIN MUNICIPAL LIMITS OF KESHORAIPATAN ON ROAD OF WIDTH 40	BUNDI	Regular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	FEET OR MORE(NOT ON SH 33)		-031			ļ		ļ .	1		_	5 20.0		
765	FROM DEENDAYAL PARK ENTRANCE GATE TOWARDS AMBEDIAR CIRCLE IN BARAN CITY	BARAN	Pagular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
/65	(BARAN TO ATRU ROAD) UPTO INTERSECTION WITH NH 27	BARAN	Regular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	3
	FROM KM STONE 1114 TO KM STONE 1117 ON													
		BARAN	Regular	150	ОВС	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
	FROM KOTA TO SHIVPURI FROM KM STONE 1135 TO KM STONE 1151 ON													
	NH 27 LEFT HAND SIDE WHILE MOVING FROM	BARAN	Regular	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	KOTA TO SHIVPURI FROM MAIN GATE OF KENDRIYA VIDYALAYA													
768	BARAN TO CHAR MURTI CIRCLE ON KOTA ROAD IN BARAN CITY	BARAN	Regular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	FROM AMBEDKAR CIRCLE TO NIYANA CIRCLE													
	IN BARAN CITY ON ROAD CONNECTING BARAN TO SHAHBAD	BARAN	Regular	110	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	BETWEEN BHARAT NIRMAN RAJIV GANDHI													
	SEVA KENDRA BORDA AND JVVNL SUB STATION PIPLOD ON NH 552G	JHALAWAR	Regular	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
	EDOM VM STONE E2 TO VM STONE E6 ON SH	DUNC		100		crc	25	25	4225	0				3
	34	BUNDI	Regular	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
772	WITHIN 2 KM OF DURGPURA CHAURAHA IN JHALAWAR CITY ON ROAD OF WIDTH 50 FT OR	JHALAWAR	Regular	104	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	MORE (NOT ON NH52 AND SH 01)													
	WITHIN MUNICIPAL LIMITS OF RAMGANJMANDI ON ROAD OF WIDTH 50													
	FEET ROAD OR MORE (NOT ON SH 9A AND SH	КОТА	Regular	150	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	9B)													
774	BETWEEN KM STONE 285 AND KM STONE 293 ON NH52 RIGHT HAND SIDE WHILE MOVING	кота	Regular	150	ОВС	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
	FROM KOTA TO JHALAWAR													
775	WITHIN 3 KM FROM MAIN GATE OF GOVT. PRIMARY SCHOOL MUNDLA TOWARDS	JHALAWAR	Regular	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	RAIPUR ON NH 552G													
	WITHIN MUNICIPAL LIMITS OF BHAWANIMANDI ON ROAD OF WIDTH 50	JHALAWAR	Regular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	FEET OR MORE (NOT ON SH 19A)													
777	FROM KM STONE 1085 TO KM STONE 1091 ON NH-27 RIGHT HAND SIDE WHILE GOING FROM	кота	Regular	155	ОВС	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
	KOTA TO BARAN WITHIN MUNICIPAL LIMITS OF							-	-					
778	JHALARAPATAN ON ROAD OF WIDTH 50 FEET	JHALAWAR	Regular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	OR MORE (NOT ON NH 52, NH 552G & SH 19A)													
	WITHIN MUNICIPAL LIMITS OF BUNDI CITY													
779	NAGAR PARISHAD ON ROAD OF WIDTH 50	BUNDI	Regular	150	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	FEET OR MORE (NOT ON SH 29 AND NH 52)													
	BETWEEN KM STONE 356 AND KM STONE 366 ON NH52	JHALAWAR	Regular	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	FROM KM STONE 1093 TO KM STONE 1097 ON	KOTA	Regular	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
	FROM KOTA TO BARAN		Regular		350					_		01 2013	_	<u> </u>
	BETWEEN KUCHERA POLICE THANA AND KUCHERA BSNL OFFICE VIA GOVERNMENT	NAGALIP	Bom:!	160	OBEN	l _{DC}	30	30	900	32	55	DRAW OF LOTS	15	5
782	SENIOR SECONDARY SCHOOL IN KUCHERA CITY	NAGAUR	Regular	160	OPEN	DC	30	30	900	32	33	DRAW OF LOTS	15	ľ
	FROM DELHI GATE NAGAUR TO			450	005/:								45	_
783	COLLECTORATE CHOURAHA NAGAUR VIA STATION ROAD	NAGAUR	Regular	150	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	FROM KM STONE 180 TO KM STONE 186 ON	BUNDI	Regular	210	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	FROM JAIPUR TO KOTA		caulai									01 2013	<u> </u>	
785	FROM KM STONE 222 TO KM STONE 229 ON NH-148D	BUNDI	Regular	210	ОВС	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
	WITHIN MUNICIPAL LIMITS OF KUCHAMAN													
	CITY ON ROAD OF WIDTH 50 FEET OR MORE (NOT ON SH 7, SH 90 & SH 19)	NAGAUR	Regular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
797	FROM MAIN GATE OF VIVEKANANADPURAM COLONY TO GOVT GENERAL HOSPITAL VIA	SAWAI MADHOPUR	Regular	150	OPEN CC 1	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	RANTHAMBORE CIRCLE IN SAWAI MADHOPUR CITY	S. STAI WINDHUFUK	neguidi	130	OFEN CL 1				300	32	33	DIAW OF LUIS	123	ľ
	FROM KM STONE 33 TO KM STONE 40 ON NH			450			05	-	1005	22	05		45	
	89 (NEW NH 58)	NAGAUR	Regular	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dim	nension (in M.)/. (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
	BETWEEN KM STONE 3 AND KM STONE 9 ON			150	OPEN PH	ore	25	25	4005					
789 790	NH 116 (NEW NH 552) WITHIN MUNICIPAL LIMITS OF LADNU ON ROAD OF WIDTH 50 FEET OR MORE (NOT ON	NAGAUR	Regular Regular	150	SC OPEN	DC	35	35	900	32	55	DRAW OF LOTS	15	5
791	NH58 AND SH 7D) BETWEEN RELKANTH MAHADEV TEMPLE SAWAI MADHOPUR TO MAIN GATE OF POLICE LINE VIA OFFICE OF DISTRICT MAGISTRATE SAWAI MADHOPUR	SAWAI MADHOPUR	Regular	150	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
792	BETWEEN KM STONE 59 AND KM STONE 61 ON NH116 (NEW NH 552)	TONK	Regular	150	ОВС	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
793	BETWEEN KM STONE 201 AND KM STONE 204	BUNDI	Regular	250	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
794	WITHIN 2 KMS OF SARDAR PATEL CIRCLE TOWARDS GALOD ON 100 FEET ROAD IN TONK TOWN INCLUDING PARAPHERY AREA OF TONK NAGAR PARISHAD	TONK	Regular	103	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
795	WITHIN 2 KM OF AHINSA CIRCLE TOWARDS JHILAI ON 100 FEET ROAD WITHIN MUNICIPALITY LIMITS OF NEWAI TOWN	TONK	Regular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
796	BETWEEN KM STONE 46 AND KM STONE 49 ON NH-23	SAWAI MADHOPUR	Regular	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
797	WITHIN 2 KM ON EITHER SIDE OF JAI VEER HANUMAN MANDIR ON OLD NH 79 (NEW NH 448)	AJMER	Regular	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
798	FROM KM STONE 47 TO KM STONE 52 ON SH-	AJMER	Regular	100	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
799	FROM KM STONE 30 TO KM STONE 36 ON SH- 128	кота	Regular	100	OPEN CC 2	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
800	FROM KM STONE 380 TO KM STONE 386 ON NH-8 (NEW NH 448) RIGHT HAND SIDE WHILE MOVING FROM JAIPUR TO BEAWAR	AJMER	Regular	200	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
801	BETWEEN KM STONE 304 TO KM STONE 308 ON NH48 (OLD NH79) ON LEFT HAND SIDE WHILE TRAVELLIMG FROM AJMER TOWARDS BHILWARA	AJMER	Regular	250	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
802	WHILE MOVING FROM JAIPUR TO KOTA	TONK	Regular	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
803	BETWEEN KM STONE 52 AND KM STONE 57 ON SH 116	AJMER	Regular	110	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
804	BETWEEN KM STONE 266 AND KM STONE 274 ON NH 48 (OLD NH 79A) ON RIGHT HAND SIDE WHILE TRAVELLING TOWARDS NASIRABAD	AJMER	Regular	160	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
805	WHILE MOVING FROM JAIPUR TO BEAWAR	AJMER	Regular	210	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
806	WITHIN MUNICIPAL LIMITS OF SARWAR TOWN ON ANY ROAD OF WIDTH 50 FEET OR MORE (NOT ON SH-26)	AJMER	Regular	100	ОВС	DC	30	30	900	32	55	DRAW OF LOTS	15	4
807	BETWEEN KM STONE 67 TO KM STONE 72 ON NH 11A (NEW NH 23)	TONK	Regular	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
808	ON NEW PUSHKAR BY PASS FROM GAGWANA INTERSECTION WITH OLD NH 08 TO DWPS (DELHI WORLD PUBLIC SCHOOL) CHAURAHA VIA UNDERCONSTRUCTION MEDICAL COLLEGE KAYAD	AJMER	Regular	250	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
809	WITHIN 2 KMS FROM DWPS (DELHI WORLD PUBLIC SCHOOL) CHAURAHA TOWARDS PUSHKAR ON NEW PUSHKAR BYPASS	AJMER	Regular	250	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
810	BETWEEN KM STONE 8 TO KM STONE 13 ON SH 102 (NASIRABAD- MANGALIYAWAS ROAD)	AJMER	Regular	100	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
811	BALAPURA ON SH 101	AJMER	Regular	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
812	BETWEEN KM STONE 30 AND 33 ON RIGHT HAND SIDE OF NH-08(NEW NH 58) WHILE TRAVELLING FROM AJMER TO BEAWAR	AJMER	Regular	170	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
813	BETWEEN KM STONE 78 AND KM STONE 83 ON RIGHT HAND SIDE WHILE MOVING FROM JAIPUR TO KOTA ON NH12 (NEW NH 52)	TONK	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
814	ON SH 60 WITHIN 3 KM FROM INTERSECTION OF NH 58 AND SH 60 TOWARDS BHERUNDA	NAGAUR	Regular	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
815	WITHIN 2 KM FROM PGCIL POWER STATION	AJMER	Regular	169	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
816	FROM KOTA TO SHIVPURI	BARAN	Regular	180	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
817	WITHIN 4 KM ON EITHER SIDE OF MAIN GATE OF RAJKIYE UCCHH MADHYAMIK VIDHALAY SARTHAL ON NH-752	BARAN	Regular	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
818	FROM KM STONE NO 74 TO KM STONE 78 ON SH -26	AJMER	Regular	100	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dim	nension (in M.)// (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
819	WITHIN 10 KM OF INTERSECTION WITH NH- 27 AND NH-752(OLD NH-90) TOWARDS ATRU ON NH-752(OLD NH-90)	BARAN	Regular	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
820	BETWEEN KM STONE 34 AND KM STONE 38 ON NH-23 (LALSOT - GANGAPUR CITY ROAD)	SAWAI MADHOPUR	Regular	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
821	BETWEEN KM STONE 326 AND KM STONE 332 ON NH52 ON LEFT HAND SIDE WHILE MOVING FROM KOTA TO BHOPAL	кота	Regular	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
822	FROM KM STONE 7 TO KM STONE 12 ON SH- 19B	BARAN	Regular	100	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
823	BETWEEN KM STONE 326 AND KM STONE 332 ON NH 52 ON RIGHT HAND WHILE MOVING FROM KOTA TO BHOPAL	кота	Regular	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
824	BETWEEN KM STONE 61 AND KM STONE 64 ON NH-23	SAWAI MADHOPUR	Regular	150	ST PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
825	From KM Stone 1244 To KM Stone 1248 On Left Hand Side On NH-27 While Moving From Kota To Shivpuri	Baran	Regular	150	ОВС РН	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
826	FROM KM STONE 1085 TO KM STONE 1091 ON NH-27 LEFT HAND SIDE WHILE MOVING FROM KOTA TO BARAN	кота	Regular	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
827	BETWEEN KM STONE 307 AND KM STONE 312 ON NH52 ON LEFT HAND SIDE WHILE MOVING FROM KOTA TO JHALAWAR	кота	Regular	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
828	WITHIN 2 KM OF MAIN GATE OF ADARSH PRATHMIK SAWASTHAY KENDER JALWARA TOWARDS NAHARGARH ON SH-72	BARAN	Regular	100	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
829	BETWEEN KM STONE 5 AND KM STONE 12 ON SH-74A	KOTA	Regular	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
830	FROM KM STONE 1108 TO KM STONE 1111 ON NH-27 RIGHT HAND SIDE WHILE GOING FROM KOTA TO BARAN	кота	Regular	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
831	FROM KM STONE 7 TO KM STONE 11 ON NH- 27 NORTHERN BYPASS KOTA BETWEEN GOVT. HIGHER SECONDARY	КОТА	Regular	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
832	SCHOOL DEVNAGAR TO BRIDGE ON KALI SINDH RIVER ON SH 119 BETWEEN KM STONE 84 AND KM STONE 87	JHALAWAR	Regular	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
833	ON SH 90 BETWEEN KM STONE 229 AND KM STONE 241	BUNDI	Regular Regular	150	ST OPEN	CFS DC	35	35	1225	32	95	DRAW OF LOTS DRAW OF LOTS	15	5
835	FROM JAIPUR TO KOTA BETWEEN KM STONE 136 AND KM STONE 138	NAGAUR	Regular	250	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
836	ON NH-89 (NEW NH-58) WITHIN 5 KMS OF MUNDWA POLICE THANA TOWARDS VILLAGE BHADANA ON NH-89 (NEW NH-58)	NAGAUR	Regular	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
837	WITHIN 3 KMS FROM INTERSECTION OF SH70 AND SH 33A IN BAROD ON EITHER SH	кота	Regular	107	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
838	FROM KM STONE 123 TO KM STONE 127 ON	NAGAUR	Regular	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
839	NH 89 (NEW NH 58) WITHIN 4 KM OF GOVT MILAPCHAND KANHAIYALAL KOTHARI PRATHMIK SWASTHYA KENDRA, NAGELAO TOWARDS	AJMER	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
840	PISANGAN ON SH 59 FROM KM STONE 1075 TO KM STONE 1083 ON NH-27 ON LEFT HAND SIDE WHILE GOING FROM KOTA TO BARAN	кота	Regular	150	ОВС	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
841	BETWEEN KM STONE 267 AND KM STONE 269 ON NH-148D (HINDOLI UNIARA ROAD)	TONK	Regular	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
842	FROM KM STONE 65 TO KM STONE 71 ON SH- 26	AJMER	Regular	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
843	BETWEEN KM STONE 19 AND KM STONE 23 ON NH 116 (NEW NH 552)	TONK	Regular	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
844	FROM KM STONE 64 TO KM STONE 71 ON SH- 51	КОТА	Regular	100	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
845	BETWEEN KM STONE 218 AND KM STONE 225 ON NH-52 RIGHT HAND SIDE WHILE MOVING FROM JAIPUR TO KOTA	Bundi	Regular	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
846	BETWEEN KM STONE 334 AND KM STONE 338 ON NH52 ON LEFT HAND SIDE WHILE MOVING FROM KOTA TO BHOPAL	JHALAWAR	Regular	190	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
847	BETWEEN GOVERNMENT PRIMARY HEALTH CENTRE BHALTA AND RAJKIYA UCHCH PRATHMIK VIDYALAY PATRI KHEDA ON SH 119	JHALAWAR	Regular	100	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
848	FROM KM STONE 160 AND KM STONE 165 ON SH-01	кота	Regular	100	OBC CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
849	BETWEEN KM STONE 334 TO KM STONE 338 ON NH52 RIGHT HAND SIDE WHILE MOVING FROM KOTA TO BHOPAL	JHALAWAR	Regular	190	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
850	BETWEEN KM STONE 137 AND KM STONE 142 ON NH-12 (NEW NH 52)ON RIGHT HAND SIDE WHILE MOVING FROM JAIPUR TO KOTA	TONK	Regular	210	OPEN PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
851	BETWEEN KM STONE 13 AND KM STONE 15 ON SH-92	NAGAUR	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
852	ON SH 138 WITHIN 4 KM OF INTERSECTION OF MDR 52 AND SH 138 TOWARDS DABLANA	BUNDI	Regular	100	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)// (in Sq. M.). *	Area of the site	Finance to be a applicant	arranged by the t(Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
					SC	-								
					SC CC 1 SC PH	1								
					ST	1								
					ST CC 1	1				Estimated	Estimated			
					ST PH	1				working	fund required for			
			Regular / Rural	MS+HSD in KLs	ОВС	CC / DC / CFS	Frontage	Depth	Area	capital requirement		Draw of Lots / Bidding		
			nara:	KES	OBC CC 1					for operation	of infrastructure			
					OBC PH					of RO	at RO			
					OPEN									
					OPEN CC 1	1								
					OPEN PH	1								
	WITHIN 4 KM OF NEWADIYA TOLL PLAZA													
853	AFTER LEAVING 1 KM FROM TOLL PLAZA	SAWAI MADHOPUR	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
	TOWARDS GANGAPUR CITY ON SH 01													
854	WITHIN 3 KMS FROM ROTARY CIRCLE WHILE TRAVELING TOWARDS BASNI BELIMA IN	NAGAUR	Regular	100	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
034	NAGAUR	MAGAGIC	Regulai	100	ОВС	DC	30	30	300	32	33	DRAW OF LOTS	13	Ĭ
	WITHIN 5 KM OF MAIN GATE OF SOYA AND													
855	MUSTARD OIL PROCESSING PLANT (SHIV AGREVO LTD. KALMANDA) TOWARDS	BARAN	Regular	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	JHALAWAR ON SH-01													
856	FROM KM STONE 15 TO KM STONE 23 ON SH	AJMER	Regular	120	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
857	FROM KM STONE 146 TO KM STONE 154 ON	BARAN	Regular	110	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
337	SH-51		caulai		5. 2.4		-	+	+	-	-	51 2013	-	1
950	WITHIN 3 KMS FROM MAIN GATE OF GOVT.	BARAN	Pagular	100	OPEN	DC.	35	35	1225	32	75	DRAW OF LOTS	15	5
858	PRIMARY SCHOOL GORDHANPURA TOWARDS KHANDELA ON SH-130	DANAIN	Regular	100	OPEN	DC	35	33	1225	32	75	DRAW OF LOTS	15	1
	FROM KM STONE 186 TO KM STONE 190 ON			450	000		05	25	4005		75		45	
859	SH-90 (NEW SH-19)	NAGAUR	Regular	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
860	FROM KM STONE 109 TO KM STONE 114 ON SH 12	AJMER	Regular	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BETWEEN UP SWASTHYA KENDRA TEKLA							L		L				
861		JHALAWAR	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
862	ON SH 119	AIMAED	Desides	150	OPEN CC 1	DC	35	35	1225	32	75	DDAW OF LOTS	15	-
862	FROM KM STONE 4 TO KM STONE 10 ON SH -7	AJMEK	Regular	150	OPEN CC 1	DC	35	35	1225	32	/5	DRAW OF LOTS	15	5
863	FROM KM STONE 290 TO KM STONE 293 ON SH-39 (MERTA- KHAJWANA ROAD)	NAGAUR	Regular	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
	WITHIN 3 KM FROM 132/33 KVA PEEPLU SUB-													
864		TONK	Regular	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	(PEEPLU- RANOLI ROAD)													
865	FROM KM STONE 41 TO KM STONE 49 ON SH-	кота	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
	FROM KM STONE 30 TO KM STONE 33 ON SH-			450			25	25	4005		75	00444054075	45	
866	86 (MERTA-ASOP ROAD)	NAGAUR	Regular	150	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
867	WITHIN MUNICIPAL LIMITS OF LAKHERI INCLUDING PARAPHERY LIMITS OF LAKHERI	BUNDI	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
807	NAGAR PALIKA ON SH 01	501151	regulai	100	OFEN		33	33	1223	32		DIAW OF EOTS	13	
868	FROM KM STONE 58 TO KM STONE 64 ON SH 34A	TONK	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
869	FROM KM STONE NO 132 TO KM STONE 136 ON SH-12 (KEKRI- SHAHPURA ROAD)	AJMER	Regular	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
870	FROM KM STONE 304 TO KM STONE 309 ON SH 39 (KHAJWANA-MUNDWA ROAD)	NAGAUR	Regular	100	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
	FROM KM STONE 173 TO KM STONE 183 ON													
871	SH-33	BUNDI	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
872	FROM KM STONE 118 TO KM STONE 124 ON	BUNDI	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
	BETWEEN KM STONE 40 AND KM STONE 42	T01111		400		ore	25	25	4005				_	
873	ON SH 117 (DIGGI-SOHELA ROAD)	TONK	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BETWEEN GOVT SENIOR SECONDARY SCHOOL													
874	DANGAWAS AND NAGAR PALIKA OFFICE MERTA VIA GOVT SENIOR SEC	NAGAUR	Regular	140	ОВС	DC	30	30	900	32	55	DRAW OF LOTS	15	4
	SCHOOL MERTA CITY				1				1		1			
	FROM KM STONE 198 TO KM STONE 206 ON		<u> </u>									 		
875	NH 52 LEFT HAND SIDE WHILE MOVING	BUNDI	Regular	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	TOWARDS KOTA WITHIN 5 KMS OF MAIN GATE OF POLICE		 					 		 	\vdash	 		
876	STATION GHAR TOWARDS BALOONDA ON	TONK	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
	SH34A BETWEEN KM STONE 18 AND KM STONE 20		-		-	-		-	-	-		 		
877	ON SH 21A	NAGAUR	Regular	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
878	BETWEEN KM STONE 111 AND KM STONE 113	TONK	Regular	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	ON SH 37A FROM KM STONE 47 TO KM STONE 50 ON SH-												45	-
879	87 (BIRLOKA-KHEENVSAR ROAD)	NAGAUR	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
880	BETWEEN KM STONE 35 TO KM STONE 38 ON SH 8A	NAGAUR	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
881	BETWEEN KM STONE 229 AND KM STONE 231	NAGAUR	Regular	100	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
	ON SH 87 FROM KM STONE 57 TO KM STONE 67 ON SH-		caulai											
882	74	JHALAWAR	Regular	120	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	WITHIN 3 KM FROM BOUNDARY OF RSRTC	NACALIE	Bog: !	100	ODEN	DC	25	25	1225	22	75	DRAW OF LOTS	15	-
	MAKRANA BUS STAND TOWARDS SH 7 ON SH 2B	NAGAUR	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	2
	BETWEEN KM STONE 88 AND KM STONE 91	NAGAUR	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
	ON SH 7D BETWEEN KM STONE 47 AND KM STONE 49							-					-	-
885	ON SH-7	NAGAUR	Regular	100	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
	BETWEEN KM STONE 0 TO KM STONE 10 ON													
886		NAGAUR	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
	CHAWANDIYA (MAKRANA BY PASS OF SH 2B)							1						
	BETWEEN KM STONE 80 AND KM STONE 82	TONK	Regular	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
887					127	1 ***	I ***	1	1	l*	11	5. 25.15	11	1
887	ON SH-101 (MALPURA-KISHANGARH ROAD)	TONK												
		NAGAUR	Regular	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)/. (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
890	WITHIN 10 KM OF MAIN GATE OF BIRLA CITY WATER PARK AJMER TOWARDS JAIPUR ON OLD NH 08 (NEW NH 448/58) RIGHT HAND SIDE WHILE TRAVELLING FROM AJMER TO JAIPUR	AJMER	Regular	300	OPEN	сс	35	35	1225	32	12	Bidding	30	5
891	FROM KM STONE 88 TO KM STONE 98 ON SH-	BUNDI	Regular	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
892	BETWEEN KM STONE 70 AND KM STONE 75	NAGAUR	Regular	130	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
893	ON SH 7 BETWEEN KM STONE 64 AND KM STONE 66	NAGAUR		100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
	ON SH 90 BETWEEN KM STONE 72 AND KM STONE 74		Regular											
894	ON SH-117 FROM KM STONE 27 AND KM STONE 32 ON	SAWAI MADHOPUR	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
895	SH 74 (KOTA TO KHANPUR ROAD)	JHALAWAR	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
896	BETWEEN KM STONE 65 AND KM STONE 68 ON SH 7	NAGAUR	Regular	130	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
897	BETWEEN KM STONE 58 AND KM STONE 63 ON SH 117 (JHILAI-BONLI ROAD)	TONK	Regular	120	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
898	WITHIN 5 KM FROM POLICE STATION RAIPUR TOWARDS JHALRAPATAN ON NH 552G	JHALAWAR	Regular	150	OPEN CC 2	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
899	FROM KM STONE 12 TO KM STONE 16 ON SH-	JHALAWAR	Regular	100	OBC CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
900	FROM KM STONE 87 TO KM STONE 91 ON SH-	NAGAUR	Regular	100	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	19 (NAGAUR-FALODI ROAD) BETWEEN KM STONE 88 AND KM STONE 90	TONK	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
902	ON SH 37 A BETWEEN SAINT PAUL'S SENIOR SECONDARY SCHOOL AND ADARSH VIDHYA MANDIR UCHCH MADHYAMIK VIDHYALAY ON SH-29 (WITHIN MUNICPAL LIMITS INCLUDING PARAPHERY AREA OF BUNDI NAGAR PARISHAD) WITHIN 4KM OF INTERSECTION OF NEW NH	BUNDI	Regular	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
903	448 (OLD NH 8) AND SH 101 TOWARDS SRINAGAR ON SH-101 (AJMER TO SRINAGAR ROAD)	AJMER	Regular	140	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
	WITHIN 3 KM FROM GOVT SENIOR SECONDARY SCHOOL CHOSLA TOWARDS ARAIN ON SH 7E WITHIN 3 KMS FROM MAIN GATE OF	AJMER	Regular	180	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
905	GOVERNMENT SENIOR SECONDARY SCHOOL SANWATGARH TOWARDS RANIPURA ON SH- 138	BUNDI	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
906	WITHIN 2 KMS OF MAIN GATE OF GOVT SENIOR SECONDARY SCHOOL TANTWAS ON EITHER SIDE ON SH-87A (OLD MDR 37)	NAGAUR	Regular	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
907	FROM KM STONE 114 TO KM STONE 118 ON SH-51	BARAN	Regular	105	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
908	WITHIN 2 KMS FROM SHRI DAMODAR LAL VYAS CIRCLE TOWARDS SADARPURA VIA KRISHI UPAI MANDI MALPURA TOWN	TONK	Regular	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
909	BETWEEN KM STONE 354 AND KM STONE 356	SAWAI MADHOPUR	Regular	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
910	ON SH-01 WITHIN MUNICIPAL LIMITS OF KISHANGARH ON ANY ROAD OF WIDTH 50 FEET OR MORE (NOT ON OLD NH 08, SH 7, SH 7E)	AJMER	Regular	130	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	ON MDR 175 FROM KM STONE 25 TO KM													-
911	STONE 27 BETWEEN KM STONE 18 TO KM STONE 20 ON	JHUNJHUNU	Rural	110	OPEN OBC	DC DC	25	25	625 625	16	35	Draw of Lots Draw of Lots	5	3
913	MDR 25B NAWALGARH-GOLYANA ROAD FROM GOVERNMENT SCHOOL BEHDOLI TO SHIVA TEMPLE PALI ON JHAKRA - RENI ROAD	Alwar	Rural	100	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
914	WITHIN 3 KM FROM NH-48 AND DAULTPURA	Jaipur	Rural	110	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
915	FROM JORAVARPURA TO LACHADSAR ON RAJALDESAR TO MOMASAR ROAD	Churu	Rural	75	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
916	WITHIN 2 KM FROM VIDHYUT SUB STATION MEENAPARA TOWARDS ABHANERI ON MANPUR CHAURAHA TO ABHANERI ROAD	DAUSA	Rural	80	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
917	BETWEEN MEHARGARH SAHIB GURUDWARA TO MAHATMA GANDHI SR. SECONDARY SCHOOL DHANORA ON BARI- DHANORA ROAD	DHOLPUR	Rural	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
918	ON MDR-251 WITHIN 3KM FROM INTERSECTION OF MDR-222 AND MDR 251 TOWARDS PATHREDI	JAIPUR	Rural	105	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
919	BETWEEN LATE KUMARI BADHALA MAHILA B.ED. COLLEGE TO GRAM PANCHAYAT BHAWAN MALIKPUR ON ROAD CONNECTING GOVINDGARH TO MALIKPUR	Sikar	Rural	70	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
920	FROM GHUMNSAR KHURD TO BUDANIA ON KASIMPURA -BUDANIA ROAD	JHUNJHUNU	Rural	60	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
	WITHIN 1 KM OF UP TEHSILDAR OFFICE							25		16	35			

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)// (in Sq. M.). *	Area of the site	Finance to be a applicant	arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
					SC CC 1 SC PH ST						Estimated			
			Regular / Rural	MS+HSD in KLs	ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	fund required for development of infrastructure at RO	Draw of Lots / Bidding		
922	BETWEEN KM STONE 2 TO KM STONE 5 ON MDR324(BADODAMEO - GANDOORA ROAD)	ALWAR	Rural	75	OPEN PH SC	CFS	25	25	625	0	0	Draw of Lots	0	2
923	ON MDR-25 BETWEEN KM STONE 36 TO KM STONE 40	Alwar	Rural	100	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
924	BETWEEN MAHATMA GANDHI GOVT. SCHOOL AND GRAM PANCHAYAT OFFICE SAIPAU ON	DHOLPUR	Rural	80	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
925	FROM BESWA TO UDANSAR ON BESWA - MUKUNDAGARH ROAD	Sikar	Rural	67	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
926	BETWEEN BIRASANA AND RAMNAGAR ON ROAD CONNECTING BIRASANA TO RAMNAGAR VIA GOVT. SECONDARY SCHOOL RAMNAGAR	JAIPUR	Rural	65	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
927	WITHIN 3 KM FROM MACHADI MODE TOWARDS RENI ON MDR 151	ALWAR	Rural	82	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
928	FROM KHINWASAR TO POSANI ON BEEDASAR- KOLIDA ROAD	Sikar	Rural	60	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
929	BETWEEN GOVT. SR. SECONDARY SCHOOL BARAGMA TO GOVT. SR. SECONDARY SCHOOL NAGLA MEENA ON HINDAUN CITY TO NAGLA MEENA ROAD VIA BARAGMA	KARAULI	Rural	60	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
930	FROM BHUDA KA BAS TO TAMKOR ON MALSISAR- TAMKOR ROAD	JHUNJHUNU	Rural	60	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
931	WITHIN 2 KM FROM GOVT SR. SEC. SCHOOL	JHUNJHUNU	Rural	62	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
932	SIKRODA MEENA	KARAULI	Rural	70	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
933	FROM NUA TO BHOJASAR ON DHIGAL BHOJASAR ROAD	JHUNJHUNU	Rural	62	OPEN CC 2	DC	25	25	625	16	35	Draw of Lots	5	4
934	BETWEEN KM STONE 73 TO KM STONE 76 ON JOBNER-ASALPUR-BORAJ ROAD	Jaipur	Rural	60	OBC CC 1	DC	25	25	625	16	35	Draw of Lots	5	3
935	BETWEEN PAVAINI TO LEELAUTII ON SARMATHURA - BASERI ROAD VIA PAVAINI	DHOLPUR	Rural	100	ST CC 1	CFS	25	25	625	0	0	Draw of Lots	0	2
936	FROM GOTHRA TO DEOGAON ON GOTHRA - PARSARMPURA ROAD	JHUNJHUNU	Rural	62	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
937	BETWEEN HIGHER PRIMARY SANSKRIT SCHOOL AKHAIPURA AND RAGHUKUL ITI MANOHARPURA ON BASSI SAMBHARIYA ROAD	Jaipur	Rural	75	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
938	BETWEEN ARJUNPURA TO KHARAGPURA COLONY VIA BANORA ON BASERI-NADANPUR ROAD	DHOLPUR	Rural	95	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
939	ON MOD 25 DETWICEN VALCTONE 21 TO VAL	Alwar	Rural	110	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
	WITHIN 5 KM FROM BHUSAWAR BUS STAND ON BHUSAWAR - HINDAUN ROAD TOWARDS BALLABHGARH FORT	Bharatpur	Rural	110	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
941	ROOPNAGARI FANGALO KI DHANI	Jodhpur	RURAL	120	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
942	WITHIN 2 KMS FROM POLICE STATION PANCHU TOWARDS GR EXCELLENCY INTERNATIONAL SCHOOL ON PANCHU TO NATHUSAR ROAD	Bikaner	RURAL	60	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
943	BETWEEN KM STONE 22 AND KM STONE 26 ON ODR-02 (BHADKHA-BHATADU ROAD)	Barmer	RURAL	50	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
944	WITHIN 2 KM ON EITHER SIDE OF SHRI CHANDERBHOLESHWAR MANDIR ON BALESAR TO TIBNA ROAD	Jodhpur	RURAL	46	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
945	NAKODA ROAD	Barmer	RURAL	160	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
946	NAPASAR ROAD	Bikaner	RURAL	60	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
947	WITHIN 3 KM ON EITHER SIDE OF SHAHEED UDAY SINGH SODA RAJKIYA UCCH MADHYAMIK VIDHYALAY DHAYSAR ON CHANDAN -DHAYSAR-DELASAR ROAD	Jaisalmer	RURAL	60	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
948	WITHIN 4KM ON EITHER SIDE FROM GOVT SENIOR SECONDARY SCHOOL MAHABAR ON BARMER GUDAMALANI ROAD	Barmer	RURAL	50	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
949	WITHIN 3 KM FROM RD 710 PHANTA TOWARDS RD 682 CHAURAHA	Bikaner	RURAL	60	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
950	WITHIN 2 KM FROM GRAM PANCHAYAT	Bikaner	RURAL	60	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
951	BETWEEN KM STONE NO. 16 AND KM STONE NO. 18 ON RAMGARH -ASUTAR ROAD	Jaisalmer	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
952	WITHIN 3 KMS ON EITHER SIDE OF PANCHYAT SAMITI ISROL ON BARMER-DHANAU ROAD	Barmer	RURAL	50	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dim	nension (in M.)// (in Sq. M.). *	Area of the site		erranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
953	FROM PANCHYAT BHAWAN BHAGLI SINDHLAN TO GRAM PANCHAYAT REWAT ON REWAT-BAGLISINDHLAN ROAD	Jalore	RURAL	50	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
954	ON ROAD CONNECTING FROM 27 PD ABADI TO 60 RD	Jaisalmer	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
955	BETWEEN KM STONE 0 AND KM STONE NO. 4 ON BANDHEWA -MEKUBA ROAD	Jaisalmer	RURAL	80	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
956	WITHIN 3 KM FROM GIRAB POLICE STATION TOWARDS ASADI ON GIRAB- ASADI ROAD	Barmer	RURAL	50	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
957	BETWEEN KM STONE 16 AND KM STONE 20 ON MDR-17A (BHINMAL TO KARDA ROAD)	Jalore	RURAL	100	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
958	WITHIN 3 KMS FROM RAJKIYA UCCH MADYAMIK VIDHYALAY THAWARIYA TOWARDS JHARELI ON THAWARIYA- UDSAR ROAD	Bikaner	RURAL	120	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
959	WITHIN 5 KM FROM BHAGAT SINGH CHOWK DELI TALAI TOWARDS RD 820	Bikaner	RURAL	60	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
960	WITHIN 3 KM FROM SAHEED MOHANRAM RAJKIYA AADARSH UCHCH MADHYAMIK VIDYALAYA MOTAI TOWARDS PARIYAL ON MOTAI -PARIYAL ROAD	Jodhpur	RURAL	80	ОВС РН	DC	25	25	625	16	35	Draw of Lots	5	3
961	BETWEEN HEALTH WELLNESS CENTER MOORDA AND GRAM PANCHAYAT KARYALAY JHAUR ON MDR-201	Rajsamand	RURAL	100	SC PH	CFS	25	25	625	0	0	Draw of Lots	0	2
962	BETWEEN KELWA CHOUPATI AND KELWA PANCHAYAT SAMITI ROAD VIA SHRI KANWA HANUMAN MANDIR KELWA	Rajsamand	RURAL	205	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
963	MANDIR ON ANOPPURA TO KUNDWA ROAD	Rajsamand	RURAL	205	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
964	KM STONE NO. 29 TO KM STONE NO 34 ON MDR 209 (SAWA TO KANNOJ)	Chittorgarh	RURAL	110	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
965	CEMENT PLANT ROAD	Chittorgarh	RURAL	110	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
966	WITHIN 4KM FROM GALIYAKOT BRIDGE TOWARDS SARANPUR ON GALIYAKOT- SARANPUR ROAD	Banswara	RURAL	80	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
967	BETWEEN OSTWAL FACTORY AND BARDOD POST OFFICE ON SAGATPURIYA-GURLA ROAD	Bhilwara	RURAL	110	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
968	BETWEEN KM STONE 0 AND KM STONE 3 ON VILLAGE ROAD ON JOSHIWARA RUAV ROAD	Udaipur	RURAL	100	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
969	BETWEEN MACHIND BUS STAND AND PRIMARY HEALTH CENTER BADA BHANUJA ON MACHIND TO JHALON KI MADAR ROAD	Rajsamand	RURAL	112	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
970	FROM GOVT. PRIMARY SCHOOL GAJSINGH KI BHAGAL BEEKAWAS TO HAPELA BUS STAND	Rajsamand	RURAL	100	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
971	BETWEEN KM STONE 01 AND KM STONE 06 ON MDR-182 (NEW MDR-196)	Chittorgarh	RURAL	80	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
972	BHAWAN PITHAS ON PANSAL-BAGOR ROAD	Bhilwara	RURAL	140	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
973	BETWEEN NEGADIYA GRAM SEVA SAHKARI SAMITI AND GOVT. UPPER PRIMARY SCHOOL RAMPURIYA ON NEGADIYA TO SODAWAS ROAD	Rajsamand	RURAL	100	OPEN CC 1	DC	25	25	625	16	35	Draw of Lots	5	4
974	DUNGARPUR-BICHIWARA ROAD	DUNGARPUR	RURAL	100	OBC	DC	25	25	625	16	35	Draw of Lots	5	3
975	BETWEEN KITELA CHOURAHA AND GOVT. PRIMARY SCHOOL BORI ON KITELA TO BORI ROAD	Rajsamand	RURAL	155	sc	CFS	25	25	625	0	0	Draw of Lots	0	2
976	From Zawar Circle to Entrance Gate of North Baroi Mines Zawar	Udaipur	RURAL	155	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
977	WITHIN 04 KMS ON EITHER SIDE OF SHRI	Chittorgarh	RURAL	105	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
978	BETWEEN KELWA CHOUPATI AND GOVT.	Rajsamand	RURAL	100	ОВС	DC	25	25	625	16	35	Draw of Lots	5	3
979	BETWEEN JETARAN BUS STAND AND GOVT. PRIMARY SCHOOL, SAR KI NARI ON KUMBHALGARH TO SAYARA ROAD	Rajsamand	RURAL	105	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
980	MUTURN 2 MAG ON FITHER CIDE OF BAROLL	Chittorgarh	RURAL	100	OPEN	DC	25	25	625	16	35	Draw of Lots	5	4
981	BETWEEN PHED PUMP HOUSE MADPURA AND GOVT PRIMARY SCHOOL BAIRATHAL KALAN ON KHEENVSAR-DEU ROAD	NAGAUR	Rural	100	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
982	WITHIN 1 KMS ON EITHER SIDE OF GOVT HOSPITAL ASAWARI ON ASAWARI-ASOP ROAD	NAGAUR	Rural	60	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Din	nension (in M.)/. (in Sq. M.). *	Area of the site		arranged by the (Rs. Lakh)	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. Lakh)	Security Deposit (Rs. Lakh)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	WITHIN 2 KM FROM MAHATMA GANDHI		Regular / Rural	MS+HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	cc/pc/cfs	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
983	GOVERNMENT SCHOOL BALDOO TOWARDS DOODOLI ON ROAD MOVING FROM BALDOO TO DOODOLI	NAGAUR	Rural	50	OBC CC 1	DC	25	25	625	16	35	DRAW OF LOTS	5	3
984		BARAN	Rural	60	ST CC 1	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
985	WITHIN 4 KM FROM COMMUNITY HEALTH CENTRE NAHARGARH TOWARDS FATEHGARH ON MDR 47	BARAN	Rural	100	OPEN PH	DC	25	25	625	16	35	DRAW OF LOTS	5	4
986	BETWEEN KM STONE 7 AND KM STONE 9 ON MDR 288	NAGAUR	Rural	50	ОВС	DC	25	25	625	16	35	DRAW OF LOTS	5	3
987	FROM KM STONE 10 TO KM STONE 14 ON ODR 6 (MASUDA TO BIJAYNAGAR)	AJMER	Rural	50	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
988	BETWEEN RAJIV GANDHI SEVA KENDRA JHANOON TO GOVT. SENIOR SECONDARY SCHOOL BHEDOLI (ON BONLI TO JASTANA ROAD)	SAWAI MADHOPUR	Rural	50	sc	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
989	WITHIN 3 KMS FROM MAIN GATE OF GOVERNMENT HIGHER SECONDARY SCHOOL GADRETA PANCHAYAT SAMITI SHAHABAD TOWARDS NIWADI	BARAN	Rural	90	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
990	FROM FOREST DEPARTMENT VANPAL OFFICE RELAWAN TO GOVERNMENT HIGHER SECONDARY SCHOOL SHOBHAGPURA ON MDR 124	BARAN	Rural	81	OBC	DC	25	25	625	16	35	DRAW OF LOTS	5	3
991	BETWEEN KM STONE 0 AND KM STONE 9 ON MDR 179 (JHALRAPATAN TO SUNEL ROAD)	JHALAWAR	Rural	52	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
992	WITHIN 2 KM OF RAJASTHAN KSHETRIYA BARODA GRAMIN BANK SAMEEDHI TOWARDS RAJKIYA AMBEDKAR CHATRAWAS ON	DUND	Surel	50	OPEN		25	25	625	16	25	DDAWOSTOTS		
	SAMEEDHI- HEERAPUR ROAD WITHIN 2 KM ON EITHER SIDE OF JVVNL SUB	BUNDI	Rural	50	OFEN	DC	25	25	625	16	35	DRAW OF LOTS	3	*
993	STATION CHHAPOL ON MDR 51 (SAWAI MADHOPUR TO KHATOLI ROAD)	кота	Rural	50	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
994	WITHIN 4 KMS OF GOVERNMENT SENIOR SECONDARY SCHOOL SALEMABAD TOWARDS SAGARMALA ON KARKHEDI TO SALEMABAD ROAD	AJMER	Rural	80	OBC	DC	25	25	625	16	35	DRAW OF LOTS	5	3
995	BETWEEN PADAMSAR CIRCLE KHEENVSAR AND APEX CHILDREN ACADEMY KHEENVSAR VIA KHEENVSAR FORT CHOURAHA	NAGAUR	Rural	105	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
996	UPTO 5 KMS FROM ST. PAUL MAHAVIDYALYA NANER TOWARDS KALMANDA ON MDR 205	TONK		50		DC	25	25	625	16		DRAW OF LOTS	5	4
997	WITHIN 2 KM FROM RAJKIYA PRATHMIK SWASTHYA KENDRA CHAWANDIYA TOWARDS ADAKSAR ON CHAWANDIYA - ADAKSAR ROAD	NAGAUR	Rural	50	sc	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
998	BETWEEN KM STONE 5 TO KM STONE 8 ON ODR 21 (KOTRA- KABRA ROAD)	AJMER	Rural	50	OBC	DC	25	25	625	16	35	DRAW OF LOTS	5	3
999	WITHIN 4 KM OF INTERSECTION WITH SH-1 AND MDR 127 TOWARDS ANTA ON MDR-127	BARAN	Rural	80	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
1000	WITHIN 2 KM OF RAJKIYA PRATHMIK SWASTHYA KENDRA JOTAYAN TOWARDS JADANA ON VILLAGE ROAD (GOYALA- JOTAYAN- JADANA ROAD)	AJMER	Rural	60	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website **www.iocl.com** and **www.petrolpumpdealerchayan.in** and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for Retail Ooutlet dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of Site	Category	Applicati on fee in Rs.	Type of RO	Type of Site	Category	Applicati on fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
Regular	CC	Open	10000	Rural ROs	CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 1 year thereafter.

This is only a notice inviting application for allotment of Retail Outlet dealership and not an offer of Retail Outlet dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure, other information uploaded on website in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Sr.	Office Address	For Districts
1	Indian Oil Corporation Limited, Jaipur Divisional Office, First Floor, LIC Investment Building, Phase-II, Near Ambedkar Circle, Bhawani Singh Road, Jaipur-302005. Contact No. 0141- 2744382, 2744362	Jaipur, Alwar, Bharatpur, Churu, Dausa, Dholpur, Jhunjunu, Karauli and Sikar
2	Indian Oil Corporation Ltd., Jodhpur Divisional Office, Sector - 12, Chopasni Housing Board, Jodhpur – 342008 (Raj.)/Contact No. 0291-2711760	Jodhpur, Barmer, Bikaner, Hanumangarh, Jaisalmer, Jalore and Sriganganagar
3	Indian Oil Corporation Limited, Udaipur Divisional Office, Plot No.1162-1163, Sector - 11, Hiranmagri, Udaipur – 313002. Contact No: 0294-2487843, 2487846	Udaipur, Banswara, Bhilwara, Chittorgarh, Dungarpur, Pali, Pratapgarh, Rajsamand and Sirohi
4	Indian Oil Corporation Limited, Ajmer Divisional Office, Plot No.SP-42, MTC Industrial Area, Daurai, Ajmer – 315003. Contact No: 0145-2632342, 2632345.	Ajmer, Baran, Bundi, Jhalawar, Kota, Nagaur, Sawai Madhopur and Tonk